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PAPER CODE : TNTET-2
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Part Contents No. of  
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I Child Development and Pedagogy 30 1 30
II Language I (Only One Language)

As selected by the candidate as medium of 
instruction in the Application form from the 
Language given below:

30 31 60

Tamil 30 31 60
Telugu 30 31 60

Malayalam 30 31 60
Kannada 30 31 60

Urdu 30 31 60
I I I Language II - English 30 61 90
IV (Section A) Mathematics & Science     

(Section B) & Social Science
                    (For Social Science Teacher)

Question Nos.
From FromTo To

Page Nos.

(Maths, Physics, Chemistry,  
Botony, Zoology)
For Mathematics and  
Science Teacher)
OR

60

60	

91

91

150

150

In part IV, its is compulsary to attempt the question of part IV (Section A) or Part IV (Section B) as selected subject in 
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Note:

Read the instructions in English  & Tamil at Page No. 48, Last page of this booklet.
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ð°F&I

PART&I

°ö‰¬î «ñ‹ð£´ ñŸÁ‹ èŸHˆî™

CHILD DEVELOPMENT AND PEDAGOGY

There are 30 questions in all in this part. All questions are compulsary
ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

1.	 îI›ï£†®™ ï«õ£îò£Š ðœOèœ ................ àœ÷ù.

	 (Ü) Aó£ñŠ ¹øƒèO™			   (Ý) ïè˜Š ¹øƒèO™

	 (Þ) ¹øïè˜Š ð°FèO™			   (ß)  âƒ°«ñ GÁõŠðì£î G¬ô

	  In Tamil Nadu, the Navodaya Schools are located

	 (a) in the rural areas				    (b) in the urban areas

	 (c) in the suburbs				    (d) nowhere

2. 	 ‘ñFŠd†´‚ è™M’ (à÷ïô‚è™M) .................. «ð£F‚èŠð´Aø¶.

	 (Ü) â‰îŠ ð£ìˆ¬î «ð£F‚°‹ â‰î ÝCKòó£½‹

	 (Ý) å¼ °PŠH†ì ÝCKòó£™ ñ†´‹

	 (Þ) ÝCKòó™ô£î ñŸøõ˜è÷£™

	 (ß) àò˜G¬ô‚ èŸ«ø£ó£™

	 Value based education can be imparted by

	 (a) any teacher handling any subject		  (b) a particular teacher only

	 (c) People other than teachers			   (d) higher level learned personnel

		

3. 	 ñQî õ÷˜„CJ™ º¡«ùŸøº‹ .....................

	 (Ü) °ö‰¬î Hø‰î H¡			   (Ý) HøŠðîŸ° H¡

	 (Þ) Hø‰¶ 2 õ¼ìƒèœ èNˆ¶		  (ß)  õ£›M¡ â‰î G¬ôJô£õ¶

	 Human growth and development starts from the 

	 (a) post-natal stage				    (b) pre-natal stage

	 (c) after 2 years of birth			   (d) any stage of life

4. 	 q¼v®‚ º¬ø .............. èŸø¬ô õL»Áˆ¶Aø¶

	 (Ü) ªêŒ¶					     (Ý) êI‚¬ë(àì™ªñ£N)
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	 (Þ) à†ð£˜¬õ				    (ß)  õ£Œõ£˜ˆ¬î õN

	 Heuristic method emphasizes learning by		

	 (a) doing 					     (b) gestures

	 (c) insight					     (d) verbal mode

5. 	 å¼ °ö‰¬îJ¡ º¡«ùŸøˆ¶°Pò è£óEèœ

	 (Ü) ñó¹G¬ô ñ†´‹			   (Ý) Å›G¬ô ñ†´‹

	 (Þ) ñó¹G¬ô ñŸÁ‹ Å›G¬ô		  (ß)  Cô ªõOŠð¬ì‚ è£óEèœ

	 A child’s development characteristics are due to 

	 (a) heredity only				    (b) environment only

	 (c) heredity and environment			   (d) some extraneous factors

6. 	 åšªõ£¼ Aó£ñˆF½‹ .................. ²Ÿø÷MŸ°œ å¼ ¶õ‚èŠðœO Þ¼‚è «õ‡´‹.

	 (Ü) 2 A.e					     (Ý) 3 A.e

	 (Þ) 5 A.e					     (ß)  10 A.e

	 Every village should posses a primary school within a circumference of 

	 (a) 2 km					     (b) 3 km

	 (c) 5 km					     (d) 10 km

7. 	 1983Ý‹ Ý‡´ Ü‚«ì£ð˜ Fƒè÷¡Á Ü¬ñF‚ è™M‚è£ù º‚Aòñ£ù ªè£œ¬èèœ 
«ñŸªè£œ÷Šð†ì Þì‹

	 (Ü) °õ£Lò˜				    (Ý) ¹«ù

	 (Þ) õ£óí£C				    (ß)  Hóò£¬è	

	 In October 1983, the principle of peace education was adopted in 

	 (a) Gwalior					     (b) Pune 

	 (c) Varanasi					     (d) Prayag

8. 	 ÝÀ¬ñ¬ò‚ °P‚°‹ ‘ð˜êù£L®’ â¡ø ªê£™ ........... ªñ£NJ™ Þ¼‰¶ õ‰î¶

	 (Ü) A«ó‚è					     (Ý) Þôˆb¡

	 (Þ) Hªó…²					    (ß)  ªü˜ñ£Qò

	 The word ‘Personality’ is taken from

	 (a) Greek language				    (b) Latin language
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	 (c) French language				    (d) German language

9. 	 Ï«ú£ â¡ø è™M ÜPë˜

	 (Ü) è¼ˆFò™ ªè£œ¬èõ£F		  (Ý) ÞòŸ¬è ªè£œ¬èõ£F

	 (Þ) òî£˜ˆîõ£F				    (ß)  ðòù÷¾ ªè£œ¬èõ£F

	 Rousseau, an educationist is a/an

	 (a) Idealist					     (b) Naturalist

	 (c) Realist					     (d) Pragmatist

	

10. 	 Ý‚èˆFø¡ â¡ð¶

	 (Ü) MKC‰î¬ù				    (Ý) °MC‰î¬ù

	 (Þ) ñÁÝŒ¾ C‰î¬ù			   (ß)  Þ¬í C‰î¬ù

	 Creativity means

	 (a) Divergent thinking				    (b) Convergent thinking

	 (c) Reflective thinking				   (d) Associative thinking

11. 	 å¡Áì¡ å¡Á ªð£¼‰F õó£î Þó‡´ á‚Aèœ ïñ‚°œ Þ¼Šð¶

	 (Ü) ïó‹¹‚ «è£÷£Á				   (Ý) ñ«ù£ Mò£F

	 (Þ) Üì‚° º¬ø				    (ß)  ñùŠ«ð£ó£†ì‹

	 When we have two motives which are not in accord, we have

	 (a) Neurosis					     (b) Psychosis

	 (c) Repression					    (d) Conflict

12. 	 ï«õ£î£ò£ Mˆò£ôò£ Cø‰î îóñ£ù è™M¬òˆ î¼õ¶

	 (Ü) Fø¡I° °ö‰¬îèÀ‚°		  (Ý) Aó£ñŠ¹ø °ö‰¬îèÀ‚° ñ†´‹

	 (Þ) ïè˜Š¹ø °ö‰¬îèÀ‚° ñ†´‹	 (ß)  H¡îƒAò °ö‰¬îèÀ‚° ñ†´‹

	 Navodaya Vidyalayas provided good quality of education to only 

	 (a) talented children				    (b) rural children

	 (c) urban children				    (d) backward children

13. 	 «îCò å¼¬ñŠð£†®¡ õ¬óòÁ â¡ð¶

	 (Ü) ï£†¬ì å¼¬ñŠð´ˆ¶‹ ï£†´ ñ‚èO¡ êƒèI‚°‹ àí˜„Cèœ
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	 (Ý) ï£†´ â™¬ô¬ò‚ è£Šð¶

	 (Þ) ï£†´‚è£è Hó£˜ˆî¬ù ªêŒõ¶

	 (ß) ï£†´‚è£è ï¡ªè£¬ì ÜOŠð¶

	 The definition of National Integration refers to 

	 (a) the collision/fusion of the sentiments of the people binding the nation 			

	 (b) guarding the country’s frontiers

	 (c) offering prayers for the country 					   

	 (d) offering donations for the country	

14. 	 ºŸ«ð£‚° è™M¬ò ¹°ˆFòõ˜

	 (Ü) ü£¡ ÇJ				    (Ý) ÜóM‰î˜ 

	 (Þ) óvú™					     (ß)  vA¡ù˜

	 Progressive Education was introduced by 

	 (a) John Dewey				    (b) Aurobindo

	 (c) Russell 					     (d) Skinner

15.	  M¬÷¾ MF ...........¡ º‚Aòˆ¶õˆ¬î õL»Áˆ¶Aø¶

	 (Ü) ñÁð® ªêŒî™				   (Ý) ªõ°ñF

	 (Þ) á‚è‹					     (ß)  ñÁªñ£N

	 The law of effect emphasizes the importance of 

	 (a) repetition					     (b) rewards

	 (c) stimulus					     (d) response

16. 	 The Noisy Child and the Slient Mind â¡ø è†´¬ó¬ò â¿Fòõ˜

	 (Ü) ÿ ÜóM‰î˜				    (Ý) «ü. A¼wíÍ˜ˆF

	 (Þ) ªð˜†ó‡† óvú™			   (ß)  ð£™ çŠgò˜

		

	 The easy “The Noisy Child and the Silent Mind” was written by 

	 (a) Sri Aurobindo				    (b) J. Krishnamurthy 

	 (c) Bertrand Russell				    (d) Paul Freire 	
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17.	 WAIS¡ õ£Œªñ£N Ü÷¾«è£™ Verbal Scale of WAIS ªè£‡®¼Šð¶

	 (Ü) 6 «ê£î¬ùèœ				    (Ý) 4 «ê£î¬ùèœ

	 (Þ) 5 «ê£î¬ùèœ				    (ß)  8 «ê£î¬ùèœ

	 The verbal scale of Wais consists of 

	 (a) 6 tests					     (b) 4 tests 

	 (c) 5 tests					     (d) 8 tests 

18. 	 èŸHˆî™ Þò‰Fó î÷ˆF¡ º¡«ù£®

	 (Ü) H.âçŠ vA¡ù˜			   (Ý) Aªó÷ì˜

	 (Þ) Ý†ô˜					     (ß)  C†Q Hóv«ú

	 The pioneer in the field of teaching machines was 

	 (a) B.F. Skinner				    (b) Crowder

	 (c) Adler					     (d) Sydney pressey

19. 	 NCERTGÁõùˆF¡ î¬ô¬ñòè‹ Ü¬ñ‰¶œ÷ Þì‹

	 (Ü) ªê¡¬ù				    (Ý) ¹¶ªì™L

	 (Þ) ªè£™èˆî£				    (ß)  º‹¬ð

	 The headquarters of NCERT is in 

	 (a) Chennai					     (b) New Delhi

	 (c) Kolkata					     (d) Mumbai 

20. 	 îI›ï£†®™ ¬êQ‚ ðœO Þ¼‚A¡ø Þì‹

	 (Ü) Üñó£õF				    (Ý) ªê¡¬ù

	 (Þ) ñ¶¬ó					     (ß)  «êô‹

	 The Sainik School in Tamil Nadu is in 

	 (a) Amaravathi				    (b) Chennai 

	 (c) Madurai					     (d) Salem 	

21. 	 °ö‰¬î ð¼õˆFL¼‰¶ õò¶ õ‰î G¬ô‚° ñ£Áõ¶

	 (Ü) ºF˜‰î G¬ô				    (Ý) °ñóŠ ð¼õ‹

	 (Þ) ð£ó‹ðKò‹				    (ß)  ñó¹

	 The transition from childhood to adulthood is called
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	 (a) Maturity					     (b) Adolescence

	 (c) Heredity					     (d) Genetics

22. 	 ê£î¬ù ¹K»‹ É‡´î™ «è£†ð£†¬ì à¼õ£‚Aòõ˜

	 (Ü) ªñ‚Lô£¡†				    (Ý) ñ£v«ô£

	 (Þ) ý™					     (ß)  H«ù†

	 The theory of Achievement Motivation was developed by 

	 (a) McClelland				    (b) Maslow

	 (c) Hull					     (d) Binet

23. 	 ñ¬øºè ÜP¾¬ó ðè˜î™ Ü™ô¶ ªïPê£ó£ ÜP¾¬ó ðè˜î™ â¡ø º¬øJ¬ù ºî¡ºîL™ 
õö‚èˆFŸ° ªè£‡´ õ‰î ÜPë˜

	 (Ü) C‚ñ‡† Hó£Œ´			   (Ý) ß.T. M™Lò‹ê¡

	 (Þ) è£˜™ «ó£ü˜v				    (ß)  «ó£˜û£‚

	 The technique of non-directive counseling was first introduced by

	 (a) Sigmund Freud				    (b) E.G. Williamson

	 (c) carl Rogers				    (d) Rorschach	

24. 	 ðœO¬ò M´î™ â¡ð¬î º¡ªñ£N‰îõ˜

	 (Ü) äõ£¡ ÞL„				    (Ý) ì£™ì¡

	 (Þ) çŠ«ó£ªð™				    (ß)  ñ£v«ô£

	 ‘Deschooling’ was introduced by 

	 (a) Ivan Illich					     (b) Dalton 

	 (c) Froebel					     (d) Maslow

25. 	 â‹.â‹.â™. (MML) â¡ð¶ Þî¬ù °P‚°‹

	 (Ü) ï´ˆîó èŸø™ G¬ô			   (Ý) ÜFèð†ê èŸø™ G¬ô

	 (Þ) ïiù èŸø™ G¬ô			   (ß)  °¬ø‰îð†ê èŸø™ G¬ô

	 MML denotes

	 (a) Medium Mastery Learning			   (b) Maximum Mastery Learning

	 (c) Modern Mastery Learning			   (d) Minimum Mastery Learning

26.	  ̧ ‡íP¾ «ê£î¬ù å¡P¡ à¼Šð®èœ ê£î£óíñ£è ............ Fø¬ù«ò «ê£F‚A¡øù

	 (Ü) ñùŠð£¡¬ñ				    (Ý) ß´ªêŒ»‹
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	 (Þ) °MC‰î¬ù				    (ß)  MK C‰î¬ù

	 The items of an intelligence test normally test the ability for ____ thinking

	 (a) attitudinal					     (b) remedial

	 (c) convergent					    (d) divergent

27. 	 ðœOèœ Þ™ô£î àôè‹ â¡ø èóˆ¬î à¼õ£‚Aòõ˜

	 (Ü) Þõ£¡ Þ™L„				   (Ý) ü¨¡ Hò£«ü

	 (Þ) ñKò£ ñ£‡®«ê£K			   (ß)  ü£¡ ÇJ

	 De-Schooling was a concept put forth by

	 (a) Ivan Illich					     (b) Jean Piaget

	 (c) Maria Montessori				    (d) John Dewey

28. 	 ºò¡Á îõP‚ èŸø™ ªè£œ¬è¬ò à¼õ£‚Aòõ˜ ...............

	 (Ü) î£˜‡¬ì‚				    (Ý) vA¡ù˜

	 (Þ) «è£ýô˜				    (ß)  A™«ð£˜†

	 Trial and Error learning was propounded by 

	 (a) Thorndike					     (b) Skinner

	 (c) Kohler					     (d) Guilford 

29. 	 «î˜‰ªî´ˆî ¬èˆªî£N™ õN‚è™M â¡ð¶ ..........J¡ Üôè£è è¼îŠð´Aø¶.

	 (Ü) «ñŸèˆFò‚ è™M			   (Ý) Ýî£ó‚ è™M

	 (Þ) âF˜ñ¬ø‚ è™M			   (ß)  ªïPº¬ø‚ è™M

	 The craft centred education was one of the components of 

	 a. Western education				    b. Basic education

	 c. Negative education				    d. Ideal education

30. 	 ñQîKì‹ ãŸèù«õ àœ÷ Ìóíˆ¶õˆF¡ ªõOŠð£«ì è™Mò£°‹ â¡ø ÃŸ¬ø ÃPòõ˜ 
ò£˜?

	 (Ü) ²õ£I M«õè£ù‰î£			   (Ý) ²õ£I îò£ù‰î£

	 (Þ) ÿ ÜóH‰î˜				    (ß)  ÿ ó£ñA¼wí£

	 Education is the manifestation of the perfection already in man This was stated by

	 a. Swami Vivekananda				   b. Swami Dayanand

	 c. Shri Aurobindo				    d. Shri Ramakrishna

   C 2
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ð°F&II

îI›

ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

31. 	 ªð£¼ˆ¶è :

	 (Ü) ñ¼Š¹	 -&	 ió‹			 

	 (Ý) ñø‹	 -&	 Ý‡ò£¬ù		

	 (Þ) ñ£ø¡	 -&	 î‰î‹			 

	 (ß)  èOÁ	 -&	 ð£‡®ò ñ¡ù¡	

	 °Pf´èœ

		  a	 b	 c	 d	

	 Ü.	 3	 1	 4	 2	

	 Ý.	 2	 4	 3	 1	

	 Þ.	 2	 1	 4	 3	

	 ß.	 3	 4	 1	 2

32. 		 Cˆî¡ùõ£ê™ æMò‹ ðŸPò ÃŸP™ êKò£ù¬îˆ «î˜è.

			  (1) Cˆî¡ù õ£ê™ æMòˆ¬î õ¬óMˆîõ˜ ñ¶¬ó “ÝCKò˜ Þ÷‹ªè÷îñ¡”.

			  (2) Þ÷‹ ªè÷îñ¡ ÜõQ«êó ÿõ™ôð¡ è£ôˆF™ Cˆî¡ù õ£ê™ °¬è¬òŠ 		
¹¶ŠHˆî£˜.

			  (3)Ü‡¬ñ è£ô‹ õ¬ó Cˆî¡ù õ£ê™ - ð™ôõ˜ è£ô æMò‹ âùŠð†ì¶.

		  (Ü) 1 ñ†´‹ 2 êK				    (Ý) 3, ñ†´‹ êK

		  (Þ) Ü¬ùˆ¶‹ êK				    (ß) 1 ñŸÁ‹ 3 êK

33. 	 æMò‹ õ¬óò êƒèè£ôˆF™ ðò¡ð´ˆFò ªð£¼œ

			  (Ü) î£ñ¬ó Þî›			        	 (Ý) °F¬óJ¡ õ£™

			  (Þ) ¶AL¬è					     (ß) ÉK¬è

34. 	 H¡õ¼‹ ÃŸÁèO™ îõø£ù¶ â¶ â¬õ?

	 1. ÝƒA«ôò¬ó âF˜ˆ¶ Ý»î‹ ã‰F «ð£ó£®ò ºî™ ªð‡ñE «õ½ï£„Cò£˜

	 2. è£‰Fò®è÷£™ îˆªî´‚èŠð†ì ñèœ Ü…ê¬ôò‹ñ£œ

	 3. ªî¡ù£†®¡ ü£¡Có£E Ü‹¹üˆî‹ñ£œ

	 4. ‘ï£¡ è‡ì ð£óî‹’ & Ü‹¹üˆî‹ñ£œ

	 Ü. 1 ñŸÁ‹ 2				    Ý. 2 ñŸÁ‹ 3

	 Þ. 3 ñŸÁ‹ 4				    ß. Ü¬ùˆ¶‹ 
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35. 	 “Üèˆ«î èÁˆ¶ ¹øˆ¶ ªõÀˆ¶ Þ¼‰î àôè˜ 

	 Ü¬ùõ¬ó»‹ êèˆ«î F¼ˆî” â¡Á ÃPò ê£¡«ø£˜ «î˜è:

	 Ü. î£»ñ£ùõ˜				    Ý. Ü¼íAKï£î˜

	 Þ. Þó£ñLƒè Ü®è÷£˜			   ß. °ñó°¼ðó˜

35. 		 ªêôMì£ bªî£gÞ - ÞF™ Þì‹ªðÁ‹ Ü÷ªð¬ì

		  (Ü) Þ¡Q¬ê Ü÷ªð¬ì	 		  (Ý) ªê£™L¬ê Ü÷ªð¬ì	

		  (Þ) Þ¬êG¬ø Ü÷ªð¬ì			   (ß) ªð£¼O¬ê Ü÷ªð¬ì

36. 		 õ÷˜‚°Ú à‹ - Ü÷ªð¬ì

		  (Ü) Þ¬êG¬ø Ü÷ªð¬ì			   (Ý) Þ¡Q¬ê Ü÷ªð¬ì		

		  (Þ) ªê£™L¬ê Ü÷ªð¬ì			   (ß) ªêŒ»O¬ê Ü÷ªð¬ì

37. 	 Þô‚èí‚ °PŠ¹ î¼è : ‘àò˜¶¬ô’

	 (Ü) àK„ªê£™				    (Ý) ð‡¹ˆªî£¬è

	 (Þ) M¬ùˆªî£¬è				   (ß)  ñÏà

38. 	 ‘õ£ƒ°M™’ - Þô‚èí‚ °PŠ¹ î¼è:

	 (Ü) ð‡¹ˆªî£¬è				    (Ý) ªðòªó„ê‹

	 (Þ) M¬ùˆªî£¬è				   (ß)  à¼õè‹

39. 	 Gè›è£ô Þ¬ìG¬ô„ ªê£™..... «î˜è

	 Ü. ̂ , †					     Ý. AÁ, ÝG¡Á

	 Þ. Š, š 					     ß. Ü¡, Ü™

40. 	 ªê¡¬ùJ™ º‚Aòñ£ù ä‰¶ ÞìƒèO™ Ý™è£† ð…êñ˜ ðœOèœ âùˆ

	 îLˆ¶èÀ‚° ÞôõêŠðœOè¬÷ GÁMòõ˜.

	 Ü. ì£‚ì˜ Ü‹«ðˆè˜			   Ý. ß.ªõ. Þó£ñê£I

	 Þ. Ü«ò£ˆFî£ê˜				    ß. è˜ñió˜ è£ñó£ê˜

41. 	 Ü‰î‰î GôˆFŸ°Kò ªîŒõ‹, ñ‚èœ, àí¾, Môƒ° ºîLòù ........ âùŠð´‹

	 Ü. ºîŸªð£¼œ				    Ý. è¼Šªð£¼œ

	 Þ. ÜèŠªð£¼œ				    ß. ¹øŠªð£¼œ
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42. 	 ‘è‰î˜ èL ªõ‡ð£’ ð£®òõ˜ ò£˜?

	 (Ü) CõŠHóè£ê˜				    (Ý) °ñó°¼ðó˜

	 (Þ) î£»ñ£ùõ˜				    (ß)  õœ÷ô£˜

43. 	 W›‚èí‚A™ Þì‹ªðŸÁœ÷ ÜøË™èœ

	 (Ü) ðFªù†´				    (Ý) ðFªù£¡Á

	 (Þ) â†´					     (ß)  ðˆ¶

44. 	 “ÝJóˆªî‡ÈÁ ªñ£NèÀ‚° «õ˜„ ªê£Ÿè¬÷»‹, ËŸªø‡ð¶ ªñ£NèÀ‚°

	 àø¾Š ªðò˜è¬÷»‹ î‰¶œ÷¶ îI›” & â¡Á ÃPòõ˜.

	 Ü. T.». «ð£Š				    Ý. ióñ£ºQõ˜

	 Þ. è£™´ªõ™				    ß. Yê¡ ð£™° ÜŒò˜

45. 	 ªõ‡ì¬÷ MóMò èLªõ‡ð£õ£™ ð£ìŠð´õ¶ â¶?

	 (Ü) ðœÀ					     (Ý) É¶

	 (Þ) èô‹ðè‹				    (ß)  Ü‰î£F

46. 	 ð£…ê£L êðîˆF¡ HK¾èœ ð£ì™èœ â‡E‚¬èJ™ H¡õ¼õùõŸÁœ â¶ êKò£ù¶?

	 (Ü) Í¡Á ð£èƒèœ 4 ê¼‚èƒèœ 400 ð£ì™èœ

	 (Ý) Þó‡´ ð£èƒèœ 5 ê¼‚èƒèœ 412 ð£‚èœ

	 (Þ) Þó‡´ ð£èƒèœ 7 ê¼‚èƒèœ 450 ð£‚èœ

	 (ß) ï£¡° ð£èƒèœ 5 ê¼‚èƒèœ 415 ð£‚èœ

47. 			   ªð£¼ˆ¶è :

		  Gô‹					    á˜

	 1. ªïŒî™		  &		  a. «ðÏ˜, ÍÉ˜

	 2. °P…C		  &		  b. ð£®, «êK

	 3. ñ¼î‹		  &		  c. ð†®ù‹, ð£‚è‹

	 4. º™¬ô		  &		  d. CÁ°®

	 °Pf´èœ

		  a	 b	 c	 d	

	 Ü	 3	 1	 2	 4	

	 Ý.	 2	 4	 3	 1	

	 Þ.	 2	 1	 4	 3	

	 ß.	 3	 4	 1	 2
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48. 		 F¬ó‚èMˆFôè‹ Ü.ñ¼îè£C Hø‰î á˜ â¶?

		  (Ü)F¼õ£ôƒ°®				    (Ý)«õôƒ°®

		  (Þ)«ñô‚°®è£´				    (ß)ªêƒèŠð´ˆî£¡è£´

49. 	 åÏà «ñ£¬ù &&&& Y˜ â‡E‚¬è (â‡)

	 Ü.1&3					     Ý.1&2&3

	 Þ. 1&2&4 					     ß. 1&4

50. 	 “¬õè¬ø â¿è” & ¬õè¬ø â¡ð¶ âšõ¬è Ý°ªðò˜ «î˜è

	 Ü. C¬ùò£° ªðò˜				   Ý. è£ôõ£° ªðò˜

	 Þ. ªð£¼÷£°ªðò˜				    ß. Þìõ£°ªðò˜

51. 	 èŸè èêìø‚ èŸð¬õ èŸøH¡

	 GŸè ÜîŸ°ˆ îè & «ñ£¬ù ïò‹ «î˜è:

	 Ü.1,3,4					     Ý.1,2,4

	 Þ. 1,2,3,4 					     ß. 1,2,3

52. 	 ªð£¼ˆ¶è.

	 (1) è´õ¡(õ£ùóƒèœ)		  -1 ªð‡ °óƒ°

	 (2) ñ‰F				    -2. Ý‡ °óƒ°

	 (3) Ãù™			   -	 3. ê¬ì

	 (4) «õE			   -	 4. õ¬÷‰î

	 (1)	 1	 2	 4	 3

	 (2)	 2	 1	 4	 3

	 (3)	 4	 3	 2	 1

	 (4)	 3	 4	 1	 2

53. 	 ‘ªõ÷’ â¡Â‹ æªó¿ˆ¶ å¼ ªñ£N‚°Kò ªð£¼œ ò£¶?

	 (Ü) ð™½					     (Ý) ¬èŠðŸÁî™

	 (Þ) e†ì™					     (ß)  ðœÀ

54. 	 ñèó °Á‚è‹ ðJ¡Á õó£î ªê£™

	 (Ü) õ¼‹ õœ÷™				    (Ý) «ð£¡‹

	 (Þ) «è‡‹					     ß)  î¼‹ ªê™õ˜
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55. 	 æì‚ è£‡ð¶ Ì‹¹ù¡ ªõœ÷‹

	 å´ƒè‚ è£‡ð¶ «ò£Aò˜ àœ÷‹ - ð£ì™ Þì‹ ªðŸø Ë™.

	 (Ü) F¼õ¼†ð£				    (Ý) ¹øï£ÛÁ

	 (Þ) °Ÿø£ô‚ °øõ…C			   (ß) «îõ£ó‹

56. 	 ‘ðŸÁè ðŸøŸø£¡ ðŸP¬ù ÜŠðŸ¬øŠ ðŸÁè ðŸÁ MìŸ°’ & Þ‚°ø†ð£M™ àœ÷ 
«õ˜„ªê£™¬ô‚ è‡ìPè

	 (Ü)ðŸøŸø£¡				    Ý. ðŸÁè

			  (Þ)ðŸP¬ù						     ß. ðŸÁ

57. 	 îõø£ù¬îˆ «î˜¾ ªêŒè

	 1. «õŸÁ¬ñ 6 õ¬èŠð´‹

	 2. î¬÷ 7 õ¬èŠð´‹

	 3. â†ì£‹ «õŸÁ¬ñJ¡ ñŸªø£¼ ªðò˜ MO«õŸÁ¬ñ â¡ð˜

	 4. ªêòŠð´ªð£¼œ «õŸÁ¬ñ âù Ü¬ö‚èŠð´õ¶ Þó‡ì£‹ «õŸÁ¬ñˆ ªî£¬èò£°‹.

	 (Ü). 1 ñŸÁ‹ êK				    Ý. 3 ñŸÁ‹ 4

	 (Þ)2 ñŸÁ‹ 4				    ß. Ü¬ùˆ¶‹

58. 	 “å¼ A«ô£ ð¼Š¹ õ£ƒA õ‰«î¡” & âšõ¬è Ü÷¬õ «î˜è

	 Ü. c†ì¬ô¬õ ò£°ªðò˜		  Ý. â‡íô÷¬õ ò£°ªðò˜

	 Þ. â´ˆîô÷¬õò£°ªðò˜		  ß. ºèˆî÷¬õò£°ªðò˜

59. 	 ÃŸÁè¬÷ èõQ:

	 ÃŸÁ (A): (â.è£) ð®ˆî£¡, ïì‰î£¡, õ÷˜‰î£¡. 			

	 è£óí‹ (R): HK‚è Þò½‹ ðî‹ ð°Šðî‹ âùŠð´‹ Üšõ£Á HK‚°‹«ð£¶ Ü¬õ ð°F, 
M°F, Þ¬ìG¬ô, ê‰F, ê£K¬ò, Mè£ó‹ âù ÝÁ õ¬èŠð´A¡øù.

	 (Ü)(A) ñŸÁ‹    (R) Þó‡´‹ êK «ñ½‹ (R)  â¡ð¶ (A) MŸ° êKò£ù M÷‚èñ™ô

	 Ý. (A) êK Ýù£™  (R) îõÁ

	 (Þ)(A) îõÁ Ýù£™  (R)  êK

	 ß. (A) ñŸÁ‹(R)  Þó‡´‹ êK Ýù£™ (R)  â¡ð¶ (A) MŸ° êKò£ù M÷‚èñ£°‹.

60. 	 “Ü¼÷™ô¶ ò£ªîQ™ ªè£™ô£¬ñ «è£ø™

	 ªð£¼÷™ô¶ Üš×¡ Fù™” & âšõ¬è Ý°ªðò˜ ªðò˜ «î˜è

	 (Ü). ªè£‡´ Ã†´Šªð£¼œ«è£œ		 (Ý) ÝŸÁc˜Š ªð£¼œ«è£œ

	 (Þ) ªñ£Nñ£ŸÁŠ ªð£¼œ«è£œ		  (ß) î£ŠH¬êŠ ªð£¼œ«è£œ
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PART&III

ENGLISH

There are 30 questions in this part. All the questions are compulsory.

61.	 SENTENCE PATTERN 

	 Identify the pattern of the following sentence.

	 Suddenly he became sad.

	 (a) A S V C					     (b) A V S C		

	 (c) A S V O 					     (d) ASVA

62.	  What is the synonym for ‘abundant’

	 (a) Lenient 					     (b) Solemn

	 (c) Erring					     (d) Profuse

63.	 Choose the best alternative that best expresses the meaning of the idiom/phrase given in bold.

	  The passing of anti-defection law a chill to the heart of every opportunistic legislator

	 (a) Caused anger				    (b) Caused relief

	 (c) Aroused fear				    (d) Awakened bitterness

64. 	 What is the antonym for ‘pomus’

	 (a) Excelling					     (b) Portable

	 (c) Unassuming				    (d) Sedate

65.	 Choose the appropriate preposition to complete the sentence.

			   The railway station is .......... .

			   (a) nearly					     (b) near			

			   (c) nearby					     (d)besides

66.	 Fill in the blank with most appropriate article:

			   He saw ...... aeroplane in the sky.

			   (a) a						      (b) an			 

			   (c) the						     (d) none
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67.		  Choose the right question tag:

			   He cannot walk, .....?

			   (a) can’t he					     (b) can he	

			   (c) could khe 					     (d) couldn’t he  

68.	 Find out  the word of correct spelling

	  a) bitting 					     b) leaveled

	 c) heir 					     d) goodwil

69.	 Choose the correct verb form to complete the sentence.

	 He prevented me from .........

	 (a) go						      (b) went			 

	 (c) going					     (d) to go

70.	 Identify the adjective:

	  The ……………… railway station is ten miles from here from here.

	 a) Nearest					     b) Next

	 c) Further					     d) All of above

71.	  Our ‘team’ won the match.

	 a) Material Noun				    b) Proper Noun

	 c) Collective Noun				    d) Abstract Noun

72.	 Identify the correct COMPOUND sentence form:

 	 Wishing to talk to his brother, Raghav rang him up

	 a. Raghav wished to talk to his brother, therefore he rang him up

	 b. Raghav rang up his brother to talk

	 c. Wishing to talks, Ragahav rang up his brother

	 d. Raghav wishing to talk his brother through phone
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73.	 Give the correct PUNCTUATION

 	 is this the end.

	 a. Is this the end?				    b. Is, this the end?

	 c. is this the end				    d. is this the end!

74.	 Fill in the blanks with the correct Pronoun:

 	 The lady _____ I gave a rose is my favourite teacher

	 a. who						     b. whose

	 c. whom					     d. which

75.	 Choose the correct AUTHORS for the given below

	 Mahabharatha

	 a. Kambar					     b. Ved Vyas

	 c. Kalidas					     d. Vishnu Sharma

76.. 	 Godan

	 a. Munshi Prem Chand				   b. Shelly

	 c. Abdul Kalam Azad				    d. Sri Aurbindo

	 Complete the passage by filling the blanks with appropriate CONJUNCTION

                  One day, __(77)__ rained and the rain trickled __(78)__ the snow, down into __(79)__ ground. Later, 
a pointed and slender sunbeam pierced __(80)__ through the snow. It tapped __(81)__ the bud ”come 
in “, ___(82)___ the flower. I can’t do that “said the ___(83)___ I ‘m not strong enough I shall be 
stronger ___(84)___ its spring

	 “When will it be spring?” the flower __(85)__ every little sunbeam that tapped on its door. The flow-
er ___(86)__quite tired of waiting.

77. 	 a. it 			   b. that			   c. which		  d. when

78. 	 a. into			  b. upto			   c. through		  d. in

79. 	 a. the 			   b. a 			   c. an 			   d. this

   C 3
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80 	 a. down		  b. upside		  c. up 			   d. outside

81. 	 a. in 			   b. from			   c. into			   d. on

82. 	 a. asked 		  b. enquired		  c. said			   d. told

83. 	 a. sunbeam		  b. sun drop		  c. snow			  d. rain

84. 	 a. when		  b. where		  c. that 			   d. this

85. 	 a. asked		  b. told			   c. said			   d. ordered

86. 	 a. grew		  b. grow			  c. drew		  d. draw

   	 Identify the Plural Form of the given words

87. 	 Cactus	

	 a) Cacti					     b) Cactal	

	 c) Cactus					     d) Cactuses

88.	 Goose

	 a) Gooses					     b) Goosy	

	 c) Geese					     d) Goosies

89. 	 Datum

	 a) Datums 					     b) Datum	

	 c) Data					     d)  Datas

90.Fill in the blanks with correct homophone	

 	 My uncle is a -------- Officer

	 a) Naval					     b) Navel	

	 c) Novel					     d) Noble
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ð°F & IV

PART - IV

HK¾ & A

SECTION - A

èí‚° ñŸÁ‹ ÜPMò™

MATHEMATICS & SCIENCE

91. 	 å¼ I¡ñ£ŸP

		  A) ÝŸø¬ô ñ£ŸÁA¡ø¶ 			   B) ÜF˜¾ â‡è¬÷ ñ£ŸÁA¡ø¶ 

		  C) I¡ù¿ˆîˆ¬î ñ£ŸÁA¡ø¶ 		  D) I¡ Þò‚°M¬ê¬ò à‡ì£‚°P¶ 

	 A transformer

	 (a) transformer energy				    (b) transformer frequency

	 (c) transformer voltage				   (d) generates emf

92.	 	 ð£îóê‹ ªõŠðñ£QèO™ ðò¡ð´ˆîŠð´õîŸè£ù è£óí‹

		  A) èùñ£ù¶					    B) Fóõ‹ 

		  C) Yó£è MKõ¬ì»‹				   D) à«ô£è‹ 

	 Mercury is used in thermometers because it

	 (a) is heavy					     (b) is a liquid

	 (c) expands uniformly				    (d) is a metal

93.		 X- èF˜èœ ªê™½‹ F¬ê«õè‹ âîŸ°„ êñ‹?

		  A) åO					     B) åL 

		  C) «ï˜I¡ èF˜èœ 				    D) Ý™ð£ èF˜èœ 

	 X-rays travel with the velocity of 

	 (a) light					     (b) sound

	 (c) positive rays				    (d) alpha rays

94. 	 I¡ à¼° Þ¬öJ¡  (Fuse Wire) °íƒè÷£õù 

		  A) ÜFè I¡î¬ì»‹ °¬ø‰î à¼° G¬ô»‹ 			 

		  B) ÜFè I¡ î¬ì»‹ ÜFè à¼° G¬ô»‹ 

		  C) °¬ø‰î I¡î¬ì»‹ ÜFè à¼° G¬ô»‹ 			 

		  D) °¬ø‰î I¡î¬ì»‹ °¬ø‰î à¼° G¬ô»‹ 
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	 The nature of fuse wire is

	 a) high resistance and low melting point

	 b) high resistance and high melting point

	 c) low resistance and high melting point

	 d) low resistance and low melting point

95. 	 c¼ì¡ àŠ¬ð èôŠðîù£™, cK¡ ªè£FG¬ô»‹ à¬ø G¬ô»‹

		  A) ÜFèK‚°‹ 			 

		  B) º¬ø«ò ÜFèK‚°‹ ñŸÁ‹ °¬ø»‹ 

		  C) °¬ø»‹ 			 

		  D) º¬ø«ò °¬ø»‹ ñŸÁ‹ ÜFèK‚°‹ 

	 On adding salt to water, the boiling point and freezing point of water will 

	 (a) increase					     (b) increase and decrease respectively

	 (c) decrease					     (d) decrease and increase respectively 

96. 	 ªè£¿ŠH½œ÷ M¬ùˆ ªî£°F

	 (Ü) Ý™®¬ý´				    (Ý) âvì˜

	 (Þ) W†«ì£¡				    (Ý) Ü¬ñ´

	 In fat, the functional group is 

	 (a) aldehyde					     (b) ester

	 (c) ketone					     (d) amide

97. 	 â‰î c˜‚è¬óJ¡ pH ñFŠ¹ Ìxòñ£è Þ¼‚°‹?

	 (Ü) ÜIô‚è¬óê™				    (Ý) è£ó‚ è¬óê™

	 (Þ) ï´G¬ô‚è¬óê™			   (ß)  «ñŸè‡ì â¶¾I™¬ô

	 An aqueous solution of pH zero is 

	 (a) acidic					     (b) basic

	 (c) neutral					     (d) none of the above

98. 	 ªêòŸ¬è º¬øJ™ îò£K‚èŠð†ì Íôè‹

	 (Ü) èK					     (Ý) îƒè‹

	 (Þ) èL«ð£KQò‹				    (ß)  è£™Cò‹

	 Identify the manmade element 

	 (a) Carbon					     (b) Gold

	 (c) Californium				    (d) Calcium 
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99. 	 «ô‰î¬ù† õK¬êJ™ àœ÷ îQñƒèœ

	 (Ü) 2					     (Ý) 10

	 (Þ) 7						     (ß)  14

	 The number of elements present in the lanthanide series is 

	 (a) 2						      (b) 10

	 (c) 7						      (d) 14

100. 	 °®‚°‹ «ê£ì£M¡ î¡¬ñ

	 (Ü) ï´G¬ô				    (Ý) å´‚A

	 (Þ) ÜIô‹					    (ß)  è£ó‹

	 Drinking soda is 

	 (a) neutral					     (b) reducing agent

	 (c) acidic					     (d) basic

101. 	 ì£˜M¡ â¿Fò å¼ Ë™

	 (Ü) Hô£úçH ü§õ£ôT‚		

	 (Ý) ÝKT¡ ÝçŠ vHRv (CŸPùƒèO¡ «î£Ÿø‹)

	 (Þ) ÝKT¡ ÝçŠ ¬ôçŠ

	 (ß) ªüù®‚v Ü‡† ÝKT¡ ÝçŠ vHRv

		  Darwin wrote a book

		  (a) Philosophie Zoologique			   (b) Origin of species

		  (c) Origin of life				    (d) Geneties and origin of species

102. 	 ‘è¼‹¹ ªð¼‚è GÁõù‹’ Ü¬ñ‰¶œ÷ Þì‹

	 (Ü) Ý´¶¬ø				    (Ý) «è£ò‹¹ˆÉ˜

	 (Þ) Ý‚ó£					     (ß)  è£¡Ì˜

		  ‘Sugarcane breeding’ institute is placed at

		  (a) Aduthurai					     (b) Coimbatore

		  (c) Agra					     (d) Kanpur

103. 	 «ý£ô£¡†K‚ p¡èO¡ ñó¹ èìˆî™

	 (Ü) ÝEL¼‰¶ Ý‡ ñ†´‹		  (Ý) ÝEL¼‰¶ Þ¼ ð£ô¼‚°‹

	 (Þ) ªð‡EL¼‰¶ Þ¼ ð£ô¼‚°‹	 (ß) ªð‡EL¼‰¶ ªð‡ ñ†´‹
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		  Holandric genes are inherited from

		  (a) male to male only				    (b) male to both sex

		  (c) female to both sex				    (d) female to female only

104. 	 àJKò™ êñG¬ô âùŠð´õ¶ H¡õ¼õùõŸP™ âšõ¬è êñG¬ô¬ò ê£˜‰î¶?

	 (Ü) àŸðˆFò£÷˜èœ			 

	 (Ý) ºî¡¬ñ ̧ è˜«õ£˜èœ

	 (Þ) ÜNŠðõ˜èœ/ C¬îŠðõ˜èœ ñŸÁ‹ àŸðˆFò£÷˜èœ

	 (ß) àŸðˆFò£÷˜èœ, ̧ è˜«õ£˜èœ ñŸÁ‹ C¬îŠ«ð£˜èœ

		  Biological equilibrium is equilibrium among the

		  (a) Producers					     (b) Primary consumers

		  (c) Decomposers and producers		  (d) Producers, consumers and Decomposers

105. 	 ðõ÷Šð£¬ø «î£¡Á‹ º¬ø ðŸP ì£LJù£™ ÃøŠð†ì «è£†ð£´

	 (Ü) à¬øðQ «è£†ð£´			   (Ý) îE¾‚ «è£†ð£´

	 (Þ) ªè£ƒ° ð£¬ø «è£†ð£´		  (ß)  Üó‡ ð£¬ø «è£†ð£´

		  Daly who proposed the theory of formation of coral reef is calle the

		  (a) Glacial theory				    (b) Subsidence theory

		  (c) Fringing theory				    (d) Barrier theory

106. 	 H¡õ¼‹ ªê™ ̧ ‡µÁŠ¹èO™ “ªê™L¡ Þò‰Fó‹” âù Ü¬ö‚èŠð´õ¶ â¶?

	 (Ü) à†è¼					     (Ý) ¬ñì«ì£è£¡†Kò£

	 (Þ) «è£™T Ã†´ˆ ªî£°F		  (ß)  ¬ó«ð£«ê£‹

		  Which of the following cell organelles is described as the ‘engine of the cell’?

		  (a) Nucleus					     (b) Mitochondria

		  (c) Golgi complex				    (d) Ribosomes

107. 	 å¼ °ö‰¬îJ¡ Þóˆî õ¬è B, Üî¡ î‰¬îJ¡ Þóˆî õ¬è A, î£J¡ Þóˆî õ¬è 
â¶õ£è Þ¼‚°‹?

	 (Ü) O Ü™ô¶ A				    (Ý) O

	 (Þ) B Ü™ô¶ AB				    (ß)  A

		  For a child having blood group B. if father has blood group A. what may be the blood of mother?

		  (a) O or A					     (b) O

		  (c) B or AB					     (d) A
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108. 	 ÖCªðK¡ â¡ð¶

	 (Ü) åOŠ ¹óî‹				    (Ý) ªè£¿Š¹ ¹óî‹

	 (Þ) ñ£¾Š ¹óî‹				    (ß)  è«ó£†®«ù£ ¹óî‹

		  Luciferin is a

		  (a) Photoprotein				    (b) Lipoprotein

		  (c) Glycoprotein				    (d) Carotenoprotein

109. 	 º¶¬ñ‚°‚ è£óí‹ àìL™ ÜFèñ£è„ «ê¼‹

	 (Ü) LŠ«ð£ ¹«ó£¯¡ (ªè£¿Š¹ ¹óî‹)	 (Ý) ¹«ó£†®«ò£çð‚R¡

	 (Þ) LŠ«ð£çð‚R¡			   (ß) A¬ô«è£çð‚R¡

		  Ageing is due to accumulation of

		  (a) Lipoprotein				    (b) Proteofuchsin

		  (c) Lipofuchsin				    (d) Glycofuchsin

110. 	 ñQî àìL™ àœ÷ ªêKñ£ù ªï£Fè÷£™, C¬î‚è º®ò£î¬õ

	 (Ü) ð£Lê£‚è¬ó´				    (Ý) ñ£¾ ñŸÁ‹ ê˜‚è¬ó

	 (Þ) ñ£M™ô£î ð£Lê£‚è¬ó´		  (ß)  àíM½œ÷ A¬÷«è£ü¡

	 ………. Are resistant to hydrolysis by the digestive enzymes in human belings.

		  (a) Polysaccharides				    (b) Starch and sugar

		  (c) Non-Starch polysaccharide			   (d) Dietary glycogen

111. 	 ¬ê«ù£«ð‚¯Kò£ â¡ð¬õ

	 (Ü) å¼ ªê™ à¬ìò¬õ			   (Ý) Ã†ì£¬ñò£ù¬õ

	 (Þ) Þ¬ö õ®õ£ù¬õ			   (ß)  Þ¬õ Ü¬ùˆ¶‹

		  Cyanobacteria are

		  (a) Single celled				    (b) Colonial

		  (c) Filamentous				    (d) All of these

112. 	 ªð‡èO™ è£íŠð´‹ ð£™ °«ó£«ñ£«ê£‹èœ

	 (Ü) YY					     (Ý) XX

	 (Þ) XYY	 				    (ß)  YX

		  The sex chromosomes present females are

		  (a) YY					     (b) XX

		  (c) XYY					     (d) YX
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113. 	 ªð£¼ˆ¶è

	 (Ü) è†®ƒ				    1. ñ£ñó‹

	 (Ý) ðFò‹ «ð£´î™		  2. ðô£ ñó‹

	 (Þ) å†´ «ð£´î™			  3. ªê‹ð¼ˆF

	 (ß) ªñ£†´ «ð£´î™		  4. «ó£ü£

				    (a)	 (b)	 (c)	 (d)

	 (Ü)	 3	 1	 4	 2

	 (Ý)	 3	 4	 2	 1

	 (Þ)	 3	 4	 1	 2

	 (ß)	 4	 3	 1	 2

		  Match the following:

		  (a) Cutting				    1. Mango

		  (b) Layering				    2. Jack tree

		  (c) Grafting				    3. Hibiscus

		  (d) Budding				    4. Rose

				    (a)	 (b)	 (c)	 (d)

		  (a)	 3	 1	 4	 2

		  (b)	 3	 4	 2	 1

		  (c)	 3	 4	 1	 2

		  (d)	 4	 3	 1	 2

114. 	 H¡õ¼‹ ð£‚¯Kò£‚èO™ ¬ï†óü¬ù G¬ôŠð´ˆ¶õ¶

	 (Ü) A÷£v†K®ò‹ ®«ì¬ù		  (Ý) ¬ï†«ó£«ñ£ù£v

	 (Þ) ¬ï†«ó£ð£‚ì˜				    (ß)  ¬ó«ê£Hò‹

		  Which one of the following is a nitrogen fixing bacteria?

		  (a) Clostridium tetani				    (b) Nitrosomonas

		  (c) Nitrobacter					    (d) Rhizobium

115. 	 ðõ÷ƒèO¡ àí×†ì º¬ø

	 (Ü) «óŠ«ì£Kò™ ñŸÁ‹ Iî¬õ º¬ø	 (Ý) ªè£†´î™

	 (Þ) M¿ƒ°î™				    (ß) è£™õ£Œ Ü¬ñŠ¹

		  Corals mainly resort to

		  (a) Reptorial and suspension feeding		  (b) By stinging

		  (c) Gulps					     (d) Canal system



Cell:  7550151584    /     TNTET-225

116. 	 W›‚è‡ìõŸP™ â¶ Þóˆîˆ¬î à¬øò ¬õ‚è àî¾‹

	 (Ü) ¬õ†ìI¡ - A				   (Ý) ¬õ†ìI¡ - C

	 (Þ) ¬õ†ìI¡ - D				    (ß)  ¬õ†ìI¡ - K

		  One of the following is antihaemorragic

		  (a) Vit-A					     (b) Vit-C

		  (c) Vit-D					     (d) Vit-K

117.		 ð£ô£¬ì è†® îò£K‚èŠ ðò¡ð´‹ Ì…¬ê

		  A) ßv†					     B) »v®ô£«è£ 

		  C) ªðQCLò‹				    D) ¬ó«ú£ðv 

	 One of the following is useful for cheese making

	 (a) yeasts					     (b) ustilago

	 (c) penicillum					     (d) rhizopus

118. 	 ñ‡õ÷Š ð£¶è£Š¹ â¡ð¶

		  A) õ÷I™ô£ ñ‡¬í õ÷ºœ÷î£è ñ£ŸÁõ¶ 			 

		  B) ñ‡¬í è£Ÿ«ø£†ìñ£ùî£è„ ªêŒõ¶ 

		  C) ñ‡ ÜKŠ¹ ãŸð´õ¶ 			 

		  D) ñ‡ ÜKŠ¬ð î´ˆ¶ ñ‡E¬ù è£Šð¶ 

	 Soil conservation is the process where

	 A) sterile soil is converted into fertile soil

	 B) soil is aerated

	 C) soil erosion occurs

	 D) soil is protected against erosion

118.	  ð£‚¯K«ò£«ðx â¡ð¶

		  A) Þø‰î F²‚èO™ õC‚°‹ å¼ ð£‚¯Kò£ 			 

		  B) ð£‚¯Kò£¬õˆ î£‚A ÜN‚°‹ å¼ ¬õóv 

		  C) ¬õóú§ì¡ ê‡¬ìJ´‹ å¼ ð£‚¯Kò£ 			 

		  D) å¼ côŠ ð„¬ê ð£C 

	 A bacteriophage is

	 A) a bacterium living on dead tissue

	 B) a virus that attacks bacteria and destroy them

	 C) a bacterium that fights viruses

	 D) a blue – green algae
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119.	 «ð‚èK- ßv† âùŠð´õ¶

		  A) ¬ê«è£ªú‚è£«ó£¬ñRv Ý‚«ì£v«ð£óv 			 

		  B) ú‚è«ó£¬ñCv ªúKMR«ò 

		  C) ªôI«ùKò£ 			 

		  D) âv. ªô´ªõT™ 	

	 Banker’s yeast is

	 A) zygosaccharomyces octosporus

	 B) saccharomyces cerevisae

	 C) laminaria

	 D) S. ludwigil

120. 	 Å™ à¬øèœ ÜŸø Å™èœ, Þšõ£Á Ü¬ö‚èŠð´‹.

(Ü) ¬ð«ì‚I‚				    (Ý) ã«ì‚I‚

(Þ) ÎQ«ì‚I‚				    (ß)  «ì‚I‚

Ovules without integuments are

(a) Bitegmic					     (b) Ategmic

(c) Unitegmic					     (d) Tegmic

121. 	 3,600 ‚° 15% õ†® iîˆF™ 3 Ý‡´èœ 9 ñ£îˆF™ ªðøŠð´‹ îQõ†®¬ò»‹, 		
ªî£¬è¬ò»‹ è£‡è. 

	 (Ü) S.I = 2100;5700			   (Ý) S.I = 2075;5675

	 (Þ) S.I = 2025;5625			   (ß) S.I = 2050;5650

	 Find S.I. and amount on  3,600 at 15% p.a. for 3 years and 9 months.

	 (A)  S.I = 2100;5700			   (B) S.I = 2075;5675

	 (C)  S.I = 2025;5625			   (D) S.I = 2050;5650

122.	 78, 79 ÝAòõŸP¡ e„CÁ ªð£.ñ 78 âQ™ eŠªð¼ ªð£.õ è£‡.

	 (Ü) 39					     (Ý) 40

	 (Þ) 43					     (ß) 79

	 The L.C.M of 78,39 is 78.Find their G.C.D.

 	 (A)  39					     (B) 40

	 (C)  43					     (D) 79
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123.	 1500 ñ£íõ˜èœ ªè£‡ì ðœO‚° 90 ÝCKò˜èœ «î¬õŠð´Aø£˜èœ. 2000 ñ£íõ˜èœ 	
ªè£‡ì ðœO‚° âˆî¬ù ÝCKò˜èœ «î¬õ?

	 (Ü) 120 ÝCKò˜èœ			  (Ý) 125 ÝCKò˜èœ

	 (Þ) 135 ÝCKò˜èœ			  (ß) 130 ÝCKò˜èœ

	 90 teachers are required for a school with a strength 1500 students. How many teachers are required 	
for a school of 2000 students?

	 (A) 120 teachers				    (B) 125 teachers

	 (C) 135 teachers 				    (D) 130 teachers

124.	 ªê¡ø Ý‡´ å¼ vÃ†ìK¡ M¬ô  34,000 Þ‰î Ý‡´ Þî¡ M¬ô 25% 		
Ã´îô£A¡ø¶. Ü‚Ã´î™ ªî£¬è .......

	 (Ü)  6,500					    (Ý)  8,500

	 (Þ)  8,000					    (ß)  7,000

	 The price of a scooter was  34,000 last year. It has increased by 25% this year. Then the increase in 	
price is _______.

	 (A)  6,500 					     (B)  8,500 

	 (C)  8,000					     (D)  7,000

125.	 å¼ õƒA è£¬ô 9 ñEJL¼‰¶ HŸðè™ 3.30 õ¬ó Þòƒ°Aø¶. HŸðè™ 12.30 ºî™ 	
1.15 õ¬ó àí¾ Þ¬ì«õ¬÷. õƒA õ£óˆF™ 6 ï£†èœ ÞòƒAù£™, å¼ õ£óˆF™ 		
õƒA Þòƒ°‹ ªñ£ˆî ðE«ïóˆ¬î‚ è£‡è.

	 (Ü) 35 ñE						     (Ý) 34 ñE 30 GIì‹

	 (Þ) 35 
1
2  

ñE					     (ß) 34 ñE	

	 A bank functions from 9 in the morning till 3.30 in the afternoon with a lunch break in the afternoon 	
from 12.30 to 1.15. If the bank works for 6 days in a week, find the total duration of working hours 	
in a week.

	 (A) 35 hours					     (B) 34 hours 30 min

	 (C) 35	
1
2

hours				    (D) 34 hours

126.	 å¼ õ°ŠH™ àœ÷ ñ£íõ ñ£íMèO¡ MAî‹ 4 : 5 ñ£íõ˜èO¡ â‡E‚¬è 20 		
âQ™, ñ£íMèO¡ â‡E‚¬è â¡ù?

	 (Ü) 30					     (Ý) 25

	 (Þ) 35					     (ß)  20

	 The ratio of boys to girls in a class is 4 : 5. If the number of boys is 20, find the number of girls.

	 (A) 30						     (B) 25

	 (C) 35						     (D) 20
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127.	 å¼ ¬ñ‚«ó£«õš æõQ¡ M¬ô  6000. ÌóE Þ¬î 5 îõ¬íèO™ õ£ƒè 			 
G¬ù‚Aø£˜. 	Ü‚°¿ñ‹ Ý‡´ îQ õ†® 10% iîˆF™ Ü¬î MŸø£™, ÌóE 		
ªê½ˆî «õ‡®ò ñ£î£‰Fóˆ îõ¬í ò£¶?

	 (Ü)  1,350					    (Ý) 1,200

	 (Þ)  1,300					    (ß)  1,250

	 The cost of a microwave oven is  6,000. Poorani wants to buy it in 5 instalments. If the company 		
offers it at the rate of 10% p. a. Simple Interest, find the E.M.I. and the total amount paid by her.

	 (A)  1,350 					     (B)  1,200

	 (C)  1,300					     (D)  1,250

128.	 å¼ ªð£¼O¡ ñFŠ¹ì¡ «ê˜‚°‹ õK ..........

	 (Ü) MŸð¬ùõK 				    (Ý) ñFŠ¹‚Ã†´ õK 

	 (Þ) èô£™õK				    (ß) ðEõK

	 The tax added to the value of the product is called ______ Tax.

	 (A) Sales Tax 					     (B) VAT 

	 (C) Excise Tax 				    (D) Service Tax

129. 	 å¼ ¬ðJ¡ MŸð¬ù M¬ô 235 Ýè¾‹ Üì‚èM¬ô 200 Ýè¾‹ Þ¼‰î£™, 

	 (Ü) Þô£ð‹  235				    (Ý) ï†ì‹  3

	 (Þ) Þô£ð‹  35				    (ß)  ï†ì‹  200

	 If the selling price of a bag is 235 and the cost price is 200, then there is a

	 (A) profit of 235 				    (B) loss of 3

	 (C) profit of 35 				    (D) loss of 200

130.	 ²¼‚°è: (5x2+10x) ÷ (x+2)

	 (Ü) x +5		   			   (Ý) x +2

	 (Þ) 5x +2		  			   (ß) 5x

	 Solve: (5x2+10x) ÷ (x+2)

	 (A) x +5	 				    (B)  x +2

	 (C) 5x +2					     (D) 5x

131. 	 Ü¬êõŸø cK™ Þ¼ Þò‰FóŠðìA¡ «õè‹ ñE‚° 15 A.e â¡è. ÜŠðì° 			 
c«ó£†ìˆF¡ F¬êJ™ 30 A.e Éó‹ ªê¡Á, Hø° âF˜ˆ F¬êJ™ F¼‹H 4 ñE 	 30 
GIìƒèO™ e‡´‹ ¹øŠð†ì ÞìˆFŸ° F¼‹H õ‰î£™ cK¡ «õèˆ¬î‚ è£‡è.

	 (Ü) 5 A.e / ñE				    (Ý) 4 A.e / ñE 
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	 (Þ) 6 A.e / ñE				    (ß) 5.5 A.e / ñE

	 The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and return downstream to the 	
original point in 4 hrs 30 minutes. Find the speed of the stream.

	 (A) 5 km/hr					     (B) 4 km/hr

	 (C) 6 km/hr					     (D) 5.5km/hr

132.	 Þó‡´ ðè¬ì‚ è£Œè¬÷ å¼º¬ø à¼†® M´‹«ð£¶ ÜõŸP¡ Ã†´ˆªî£¬è (i) 		
5‚°‹ °¬øõ£è (ii) 10‚° «ñŸð†ìî£è (iii) 9 Ü™ô¶ 11  A¬ìŠðîŸè£ù 			 
Gè›îè¾èœ è£‡è.

	 (Ü) 1/6,1/12,1/6				    (Ý) 1/4,1/2,1/4

	 (Þ) 1/6,1/3,1/8				    (ß)  1/8,1/4,3/8

	 In a single throw of two dice, find the probability of obtaining (i) sum of less than 5 (ii) a sum of 		
greater than 10, (iii) a sum of 9 or 11.

	 (A) 1/6,1/12,1/6				    (B) 1/4,1/2,1/4

	 (C) 1/6,1/3,1/8					    (D) 1/8,1/4,3/8

133.	 200ä àì¡ â‰î â‡¬íŠ ªð¼‚Aù£™ Üšªõ‡ º¿ õ˜‚è‹ Ý°‹?

	 (Ü) 200ä ‘1’ Ý™ ªð¼‚Aù£™ Üšªõ‡ º¿õ˜‚è‹ Ý°‹					   
(Ý) 200ä ‘3’ Ý™ ªð¼‚Aù£™ Üšªõ‡ º¿õ˜‚è‹ Ý°‹

	 (Þ) 200ä ‘4’ Ý™ ªð¼‚Aù£™ Üšªõ‡ º¿õ˜‚è‹ Ý°‹				  

	 (ß) 200ä ‘2’ Ý™ ªð¼‚Aù£™ Üšªõ‡ º¿õ˜‚è‹ Ý°‹

	 Find the least number by which 200 must be multiplied to make it a perfect square.
	 (A) 200 must be multiplied by ‘1’to make it a perfect square	 				  

	 (B) 200 must be multiplied by ‘1’to make it a perfect square

	 (C) 200 must be multiplied by ‘1’to make it a perfect square 				  

	 (D)200 must be multiplied by ‘2’to make it a perfect square

134. 	 å¼ F‡ñ Ü¬ó‚«è£÷ˆF¡ õ¬÷ðóŠ¹ 2772 ê.ªê.e âQ™, Üî¡ ªñ£ˆîŠ ¹øŠðóŠ¬ð‚ 	
è£‡è.

	 (Ü) 4356ªê.e2				    (Ý) 4256ªê.e2

	 (Þ) 4158ªê.e2				    (ß)  4156ªê.e2

	 If the curved surface area of a solid hemisphere is 2772 sq.cm, then find its total surface area.

	 (A) 4356cm2					     (B) 4256cm2 

	 (C) 4158cm2					     (D) 4156cm2
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135. 	 å¼ M¬÷ò£†´ ð‹ðóñ£ù¶ (Top) Ã‹H¡ e¶ Ü¬ó‚«è£÷‹ Þ¬í‰î õ®M™ àœ÷¶. 	
Ü¬ó‚«è£÷ˆF¡ M†ì‹ 3.6 ªê.e ñŸÁ‹ ð‹ðóˆF¡ ªñ£ˆî àòó‹ 4.2 ªê.e âQ™, 		
Üî¡ ªñ£ˆîŠ ¹øŠðóŠ¬ð‚ è£‡è.

	 (Ü) 11.88 π	ªê.e2				    (Ý) 12.88 π	 ªê.e 

	 (Þ) 11.77 π	ªê.e				    (ß)  12.77 π	 ªê.e

	 A play-top is in the form of a hemisphere surmounted on a cone. The diameter of the hemisphere is 	
3.6 cm. The total height of the play-top is 4 . 2 c m. Find its total surface area.

	 (A) 11.88 π cm2				    (B) 12.88 π cm2 

	 (C) 11.77 π cm2				    (D) 12.77 π cm2

136.	 ªñ£ˆîŠ ¹øŠðóŠ¹ 216 ê.ªê.e ªè£† èù„ê¶óˆF¡ ð‚è Ü÷¬õ‚ è£‡è.

	 (Ü) 5 ªê.e					     (Ý) 6 ªê.e

	 (Þ) 8 ªê.e					     (ß)  7 ªê.e

	 Find the length of the side of a cube whose total surface area is 216 square cm.
	 (A) 5 cm					     (B) 6 cm

	 (C) 8 cm					     (D) 7 cm

	

137.	 Þ¼ Yó£ù ðè¬ìèœ å¼ º¬ø à¼†ìŠð´A¡øù. W›‚è£µ‹ Gè›„CèÀ‚è£ù 		
Gè›îèM¬ù‚ è£‡è.

	 (i) ºè â‡èO¡ Ã´î™ 8 Ýè Þ¼ˆî™ 

	 (ii) ºè â‡èœ å«ó â‡è÷£è (doublet) Þ¼ˆî™

	 (iii) ºè â‡èO¡ Ã´î™ 8-ä Mì ÜFèñ£è Þ¼ˆî™

	 (Ü) 5/8, 1/6, 5/36				    (Ý) 5/36,1/6,5/18

	 (Þ) 1/6, 5/36, 5/18			  (ß) 1/6, 5/18, 5/36

	 Two unbiased dice are rolled once. Find the probability of getting

	 (i) a sum 8 	 (ii) a doublet 		  (iii) a sum greater than 8.
	 (A) 5/8, 1/6, 5/36 				    (B) 5/36,1/6,5/18

	 (C) 1/6, 5/36, 5/18				    (D) 1/6, 5/18, 5/36

138.	 3 43, 4, 5  â¡ø MAîºø£ â‡èO¡ õK¬êè¬÷„ êññ£‚°è.

	 (Ü) 						     (Ý) 

	 (Þ) 						     (ß) 12 729 , 
12 256 , 

12 125

	 Convert the irrational numbers 3 43, 4, 5  to the same order.



Cell:  7550151584    /     TNTET-231

	 (A) 						      (B) 

	 (C) 						      (D) 12 729 , 
12 256 , 

12 125

139. 	 am x ax ‚° êññ£ù¶

	 (Ü) am x					     (Ý) am + x	

	 (Þ) am – x					     (ß) amx

	 am × ax is equal to

	 (A) am x 					     (B) am + x 		

	 (C) am – x 					     (D) amx

140.	 2 + 4 + 8 + .... â¡ø ªð¼‚°ˆ ªî£ìK™, ºî™ àÁŠHL¼‰¶ ªî£ì˜„Cò£è âˆî¬ù 		
àÁŠ¹è¬÷‚ Ã†®ù£™, Ã´î™ 1022 A¬ì‚°‹?

	 (Ü) 7					     (Ý) 8

	 (Þ) 9						     (ß) 10

	 In the geometric series 2 + 4 + 8 +...., starting from the first term how many consecutive terms are 		
needed to yield the sum 1022?

	 (A) 7						      (B) 8

	 (C) 9						      (D) 10

141. 	 å¼ º¿¬ñˆªî£°FJ™ àœ÷ â™ô£ àÁŠ¹èÀ‹ è÷ŠðE ÝŒ¾‚° 				  
â´ˆ¶‚ªè£œ÷Šð†ì£™ Ü¶ .......... â¡Á Ü¬ö‚èŠð´Aø¶.

	 (Ü) º¿‚èEŠ¹ º¬ø			   (Ý) ð°FèEŠ¹ º¬ø

	 (Þ) ñ£FK èEŠ¹				    (ß)¶‡´ Y†´ º¬ø

	 If all the units of a population are surveyed it is called ________

	 (A) complete enumeration or census		  (B)  partially enumeration or census

	 (C) Model   enumeration			   (D) Pamphlet enumeration

142. 	 ºî™ è£™ñ£ù‹ æ˜ Ü¬ôªõ‡ ðóõ¬ô H¡õ¼‹ MAîˆF™ HK‚Aø¶

	 (Ü) 4:1					     (Ý) 1:4

	 (Þ) 3:1					     (ß)  1:3

	 The first quartile divides a frequency distribution in the ratio

	 a) 4 : 1 					     b) 1 :4 			 

	 c) 3 : 1 					     d) 1 : 3
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143. 	 3, 4, 7, 4, 3, 2, 4 Þ¡ ºè´

	 (Ü) 3					     (Ý) 4

	 (Þ) 7						     (ß)  2

	 The mode of 3, 4, 7, 4, 3, 2, 4 is

	 (A) 3 						      (B) 4 		

	 (C) 7 						      (D) 2

144. 	 10, 10, 10, 10,  10-¡ Mô‚è õ˜‚è„ êó£êK

	 (Ü) 10 					     (Ý) 10
	 (Þ) 5						     (ß)  0

	 The variance of 10, 10, 10, 10, 10 is

	 (A) 10 					     (B) 10  		

	 (C) 5 						      (D) 0

145.	 231 -ä 5 Ý™ õ°‚°‹«ð£¶ eF A¬ìŠð¶?

	 (A) 3						      (B) 8			 

	 (C) 5						      (D) 1

		  Find the remainder when 231 is dividable by 5

	 (A) 3						      (B) 8			 

	 (C) 5						      (D) 1

146.	 å¼ õ£ªù£L¬ò ̀  490 ‚° õ£ƒA ̀  465.50 ‚° MŸøðî£™ ãŸð´‹ ïzì êîiî‹ è£‡è. 

	 (A) 5%	 	 			   (B) 10% 	  		

	 (C) 5.5% 	 				    (D) 6.5%

	 If a ratio is purchased for ̀ 490 and sold for ̀ 465.50 , find the loss percent

		  (A) 5%	 	 			   (B) 10% 	  		

	 (C) 5.5% 	 				    (D) 6.5%

147.	 å¼ êƒ«èî ªñ£NJ™ côˆ¬î ð„¬ê âù¾‹, ð„¬ê¬ò è¼¬ñ âù¾‹, è¼¬ñ¬ò ªõœ¬÷ 
âù¾‹, CõŠ¬ð ð¿Š¹ Gø‹ âù¾‹ ªè£‡ì£™, W›‚è‡ìõŸÁœ ê£î£óí îð£™ ªð†®J¡ 
Gø‹ â¡ù? 

		  (A)	 ð„¬ê					     (B) CõŠ¹		

		  (C) ªõœ¬÷					     (D) ð¿Š¹ Gø‹
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		  In a certain language, Blue is called green, green is black, Black is white, Red is called brown. Which 
of the following the colour of post box?

		  (A)	 Green					     (B) Red		

		  (C) White					     (D) Brown

148.	 îõø£ù ÃŸÁ â¶?

	 1)	 Iè„CPò ðè£ â‡ 1

	 2)	 Þó†¬ìŠð¬ì ðè â‡èO¡  â‡E‚¬è 2 Ý°‹

	 3)	 61 â¡ð¶ ðè â‡

	 4)	 13 â¡ð¶ ðè£ â‡

	 A)	 I, II, III					     B) I, III, IV	

	 C) I, II						     D) I, IV

	 Which statement is wrong

	 1.	 Smallest Prime Number is 1

	 2.	 Number of even Prime Number is 2

	 3.	 61 is a Prime Numbers

	 4.	 13 is a Prime Number

	 A)	 I, II, III					     B) I, III, IV	

	 C) I, II						     D) I, IV

149. 	 Iè„CPò Þó£ñ£Âü¡ â‡ â¶?

	 The smallest Ramanujam Number is 

	 A)1728					     B)1729		

	 C) 4104					     D)13832

150. 	 13 Ë™èœ ÜìƒAò  å¼ èEîŠ¹òô£ù ÜKˆªñ®‚” â¡ø Ë™èO¡  ªî£°ŠH¬ù â¿Fòõ˜ 

	 Who wrote the book Arithmetica , which contains 13 books.

	 A) Diophontos  / ¬ì«ò£ çð£‡ìv  	B) Carl Boyer/è£˜™ ð£ò˜   

	 C) Aryabatta/Ý˜òð†ì£      		  D) Simmon /. CI«ò£¡
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ð°F & IV

PART - IV

HK¾ & B

SECTION - B

êÍè ÜPMò™

SOCIAL SCIENCE

ÞŠð°FJ™ 60 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

There are 60 questions in this part. All the questions are compulsory.

91. 	 ºî™ ð£™è¡ «ð£˜ ï¬ìªðŸø Ý‡´

	 Ü. 1912	 				    Ý. 1907		

	 Þ. 1934					     ß. 1915

	 The first Balkan war was held--------------

	 A) 1912	 B)  1907	 C) 1934        	   D)1915

92. 	 ê˜õ«îê êƒè‹ ÜFè£ó Ì˜õñ£è «î£¡Pò ï£œ

	 Ü. ñ£˜„ 7 ,1930				    Ý. ñ£˜„ 2, 1928	

	 Þ. üùõK 20, 1920				   ß. üùõK 20, 1924

	 The league of Nation was officially founded in ---------- 

	 A) March 7, 1930	 B) March 2, 1928 	 C) January 20 ,1920        D) January  20 ,   1924

93. 	 º‚Ã†´ ï†¹ø¾ àì¡ð®‚¬èJ¡ ãŸð´ˆFò Ý‡´

	 Ü. 1907	 				    Ý. 1882		

	 Þ. 1912					     ß. 1788

	 Triple entente was signed in the year ------------

	 A) 1907	 B) 1882		 C) 1912		 D) 1788

94. 	 âŠ.®. Ïvªõ™† ðîM«òŸø ï£œ

	 Ü. ñ£˜„ 4, 1933	 			   Ý. ñ£˜„ 4, 1993		

	 Þ. ãŠó™ 6, 1940				    ß. ãŠó™ 6, 1943
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	 F.D Roosevelt assumed office on --------------

	 A) March  4, 1933	 B) March 4, 1993

	 C) April 6, 1940	 D) April 6, 1943

95. 	 ÜªñK‚è˜èœ «ðó£˜õˆ¶ì¡ ß´ð†ì ¶¬ø

	 Ü. õEè‹					     Ý. Åî£†ì‹		

	 Þ. ðƒ° õ˜ˆîè‹				    ß. CQñ£

	 The greatest craze in America was--------

	 A) Trade	 B) Fambuns	 C) Share market	D) Cinema

96. 	 1929™ ÜªñK‚è üù£FðFò£è Þ¼‰îõ˜

	 Ü. F«ò£ì˜ Ïvªõ™†	 		  Ý. à†«ó£ M™ê¡		

	 Þ. ªý˜ð˜† qõ˜				    ß. âŠ.®. Ïvªõ™†

	 In   1929 the American President was---------------

	 A) Theodore Roosevelt	 B) Woodrow Wilson

	 C) Herbert Hoover		  D) F.D.Roosvelt

97. 	 1932 Ý‹ Ý‡´ ÜªñK‚è üù£FðF «î˜îL™ ªõŸP ªðŸøõ˜

	 Ü. âŠ.®.Ïvªõ™†				   Ý. à†«ó£ M™ê¡		

	 Þ. ªý˜ð˜† qõ˜				    ß. F«ò£ì˜ Ïvªõ™†

	 In 1932 ----------was elected as a American President 

	 A) F.D. Roosevelt	 B) Woodrow Wilson

	 C)Herbert Hoover	 D) Theodone Roosevelt

98. 	 ÜªñK‚è ªð£¼÷£î£ó‹ Þò™¹ G¬ô‚° F¼‹Hò Ý‡´

	 Ü. 1930					     Ý. 1935	

	 Þ. 1940					     ß. 1950

	 By -----------there was normal economic activties in the U.S.A

	 A)   1930	 B) 1935	C) 1940	D) 1950

99. 	 ð£Cê è†C¬òˆ «î£ŸÁMˆîõ˜

	 Ü. U†ô˜					     Ý. ªôQ¡		

	 Þ. º«ê£LQ				    ß. vì£L¡

	 The founder of the Fascist party was ----------------
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	 A) Hitler					     B) Lenin	

	 C) Mussolini					     D) Stalin

100. 	 «îCò ð£Cê‚è†C «î£ŸÁM‚èŠð†ì ï£œ

	 Ü. ïõ‹ð˜ 1921				    Ý. ®ê‹ð˜ 1921	

	 Þ. üùõK 1929				    ß. HŠóõK 1929

	 National Fascist Party was organised in-------------

	 A) November 1921				    B) December 1921	

	 C)  January 1929				    D) February 1929

101. 	 º«ê£LQ»ì¡ ªð£¶‚ªè£œ¬è¬ò ãŸð´ˆF‚ ªè£‡ìõ˜

	 Ü. ê˜„C™					     Ý. U†ô˜	

	 Þ. vì£L¡					    ß. ªôQ¡

	 Mussolini made common cause with ------------

	 A) Churchill	 B) Hitler	 C) Stalin	 D) lenin

102. 	 º«ê£L¡ Ü™«ðQò£¬õ‚ ¬èŠðŸPò Ý‡´

	 Ü. 1935					     Ý. 1937	

	 Þ. 1936					     ß. 1939

	 Musolini Captured Albania in the year 

	 A) 1935	 B) 1937   C) 1936            D) 1939

103. 	 º«ê£LQ ê˜õ«îê êƒèˆFL¼‰¶ ªõO«òPò Ý‡´

	 Ü. 1936					     Ý. 1937	

	 Þ. 1941					     ß. 1945

	 Musolini left the league of Nations in --------------- 

	 A) 1936	 B)  1937                C) 1941    D) 1945

104. 	 ð£Cv´èœ «ó£‹ ïè¬ó «ï£‚A ÜE õ°ˆ¶ ªê¡ø Ý‡´

	 Ü. 1921					     Ý. 1922	

	 Þ. 1923					     ß. 1927

	 The Facists Organised a march to Rome in the year--------------

	 A)  1921					     B)  1922	  

	 C) 1923             					     D)1927
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105. 	 «ô†ìó¡ àì¡ð®‚¬è ãŸð†ì Ý‡´

	 Ü. 1930					     Ý. 1929				  

	 Þ. 1920					     ß. 1935

	 Latern treaty was singed in the year-----------

	 A)  1930					     B)  1929       

	 C) 1920					     D) 1935

106. 	 º«ê£LQJ¡ ªè£œ¬èè¬÷ H¡ðŸPòõ˜èœ º«ê£LQ¬ò âšõ£Á Ü¬öˆîù˜

	 Ü. åšó£					     Ý. ®»v	

	 Þ. «ð£ó£´					     ß. W›ð®

	 Mussolini was called by his  followers as -------

	 A) Ovra					     B) Duce

	 C) Fight					     D) Obey

107. 	 Þˆî£LJ™ ð£Cê‹ «î£¡Pò Ý‡´

	 Ü. 1920					     Ý. 1918	

	 Þ. 1919					     ß. 1924

	 Fascisim was established in Italy------------

	 A) 1920					     B)  1918

	 C) 1919          					     D) 1924

108. 	 Þ‰Fò£M¡ õì‚«è è£we˜ ºî™ è¡Qò£°ñK õ¬óJô£ù c÷‹

	 Ü. 3216 Ae					    Ý. 3210 A.e		

	 Þ. 3214 A.e					    ß. 2933 A.e

	 India extends from Kasmir to Kanniyakumari ---------- km longer

	 A)  3216 km					     B)  3210 km		

	 C) 3214km					     D) 2933 km

109. 	 ó£üvî£ù êñªõO .......... ñ¬ôˆªî£ì¼‚° «ñŸA™ Ü¬ñ‰¶œ÷¶

	 Ü. M‰Fòñ¬ô				    Ý. ê£ˆÌó£	

	 Þ. Ýóõ™L					    ß. ñ«è‰FóAK

	 Rajashthan plain is  found located in the West of ----------------

	  A) Vindhyamountain				    B)  Sathpura 		

	 C) Aravalli					     D) Mahendragiri
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109. 	 èƒ¬èJ¡ HøŠHì‹

	 Ü. ðQ à¬øMì‹				    Ý. èƒ«è£FK	

	 Þ.ñ«è‰FóAK				    ß. è£ó‚«è£ô‹

	 The source of river Ganga--------------

	 A)  Afode of snow				    B) Gangothri	

	 C) Mahendragiri				    D) Karakoram

110. 	 Þ‰Fò£M¡ Iè àòóñ£ù Cèó‹

	 Ü. âõªóv†	 Cèó‹				   Ý. è£†M¡ Ýv®¡	

	 Þ. è…ê¡ üƒè£				    ß. îõ÷AK

	 The highest peak in India 

	 A) mt Everest 					    B) Godwin Austin	

	 C)  Kanjanjanka				    D) Thavalagiri

111. 	 ð£‚c˜ ê‰F.........Þ‰Fò£ML¼‰¶ HK‚Aø¶

	 Ü. Iò£¡ñ˜					    Ý. ÿôƒè£		

	 Þ. ñ£ôˆb¾èœ				    ß. Þô†êˆb¾èœ

	 Palk Stait seperates India from------------

	 A) Myanmar           				    B) Srilanka	       

	 C) Maldives	     				    D)  Lakshawadeep Islands

112. 	 Þ‰Fò£MŸ° ............J™ õƒè£÷ MK°ì£ Ü¬ñ‰¶œ÷¶

	 Ü. «ñŸ° F¬ê				    Ý. ªîŸ° F¬ê	

	 Þ. ªî¡Aö‚° F¬ê				   ß. ªî¡«ñŸ° F¬ê

	 The bayof Bangal is located to the ------ of India

	 A) West					     B) South	

	 C) Southeast					     D) Southwest

113. 	 õìªð¼‹ êñªõOJ™ è£íŠð´‹ ð¬öò õ‡ì™ ð®¾èœ

	 Ü. ð£ð˜					     Ý. ðƒè£˜	

	 Þ. è£ì˜					     ß. ð£…Cò£

	  ------------- represents older Alluvium in the Northern great plaim

	 A) Babur					     B) Bhagar	

	 C) Khadar					     D) Pangea
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114. 	 õìªð¼‹ êñªõOJ™ è£íŠð´‹ ¹Fò õ‡ì™ ð®¾èœ

	 Ü. ð£ð˜					     Ý. ðƒè£˜	

	 Þ. è£ì˜					     ß. ðó‰îô£ê£

	 The --------- is the newer Alluvium in the Norther great plains pantalaza

	 A) Babar					     B) Bangar	

	 C) Gadar					     D) Paranthalasa

115. 	 Þ‰Fò£M½œ÷ Iè àò˜‰î dìÌI

	 Ü. î‚è£í dìÌI				    Ý. ñ£÷õ dìÌI	

	 Þ. «ê£†ì£ ï£‚Ì˜				    ß. ôì£‚ dìÌI

	 ---------- is the highest plateau in India

	 A) Deccan plateau				    B) Malwa plateau      

	 C) Chotta Nagpur Plateau			   D) Ladakh Plateau

116. 	 Þ‰Fò£M¡ Aö‚° â™¬ôèÀì¡ àœ÷ Þñò ñ¬ôèœ

	 Ü. Ç¡ ðœ÷ˆî£‚°				   Ý. Ì˜õ£„ê™		

	 Þ. ôì£‚ dìÌI				    ß. î‚è£í dìÌI

	  ---------- Mountains along the eastern  of India

	 A) Dun Valley					    B) Purvahal 	

	 C) Ladakh					     D) Deccan plateau

117. 	 Þñ£„ê™ ð°FJ™ àœ÷ c‡ì ñ¬ôˆªî£ì˜

	 Ü. îšô£î£˜					    Ý. d˜ð£…ê™		

	 Þ. îó£Œ					     ß. Ì˜õ£„ê™

	 -------------- is the longest range of Himachal region

	 A) Dhauladar					     B) Perpanjal	

	 C) Tharai					     D) Purvachal

118. 	 ó£üvî£¡ êñªõOJ™ àœ÷ IèŠªðKò ãK

	 Ü. «õŠðï£´				    Ý. ê£‹ð£˜ ãK	

	 Þ. C™è£ ãK					    ß. ªè£™«ôÁ
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	 ---------- is the largest lake in Rajasthan

	 A) Vembanadu				    B) Sambar lake 	

	 C) Chilkalake					     D) Kolleru

119. 	 Þ‰Fò£M¡ «ñŸ«è °üó£ˆ ºî™ Ü¼í£„êô Hó«îê‹ õ¬óJô£ù Üèô‹

	 Ü. 2943 A.e					    Ý. 2922 A.e		

	 Þ. 2833 A.e					    ß. 2933 A.e

	 In India ,Gujarat in the west to Arunachal pradesh in the east extends -------- km

 	 A)  2943km					     B) 2922 km		

	 C) 2833 km					     D) 2933 km

120. 	 ºî¡ºîL™ êí™ ªïê¾ Ý¬ô ªî£ìƒèŠð†ì Þì‹

	 (Ü) ðóíÃ˜					    (Ý) Kwó£

	 (Þ) C†ìè£ƒ				    (ß)  è™èˆî£

	 The first jute spinning mill was started at

	 (a) Baranagore				    (b) Rishra

	 (c) Chittagong					    (d) Kolkata	

121. 	 îI›ï£´ ñ£GôˆF¡ ªñ£ˆî ðóŠð÷¾

	 (Ü) 1,30,000 ê¶ó A.e			   (Ý) 1,50,000 ê¶ó A.e

	 (Þ) 1,70,000 ê¶ó A.e			   (ß)  1,90,000 ê¶ó A.e

	 Total area of Tamil Nadu state is

	 (a) 1, 30, 000 sq. km.				    (b) 1,50,000 sq. km.

	 (c) 1,70,000 sq. km.				    (d) 1,90,000 sq. km	

122.	 ï˜ñî£ ÝÁ ....................... ‚° Ü¼A™ àŸðˆFò£Aø¶

	 (Ü) Üñ˜è‡ì‚				    (Ý) ï£‚Ì˜

	 (Þ) Ü¹					     (ß)  dì™

	 The Narmada river rises near

	 (a) Amarkantak				    (b) Nagpur

	 (c) Abu					     (d) Betul	

123. 	 W›‚è‡ì ñ£GôƒèÀœ â‹ñ£GôˆF™ Iè‚°¬ø‰î Ü÷¾œ÷ è£´èœ ðóŠð÷¾ àœ÷¶?

	 (Ü) Üvú£‹				    (Ý) °üó£ˆ

	 (Þ) ñè£ó£w®ó‹				    (ß)  è˜ï£ìè£



Cell:  7550151584    /     TNTET-241

	 Which of the following states has the least area under forest?

	 (a) Assam					     (b) Gujarat

	 (c) Maharashtra				    (d) Karnataka	

124. 	 ê‰FóHóð£ õùMôƒ° êóí£ôò‹ àœ÷ ñ£Gô‹

	 (Ü) «ñŸ° õƒè£÷‹			   (Ý) àˆFóŠHó«îê‹

	 (Þ) Üvú£‹				    (ß) «èó÷£

	 Chandraprabha wild sanctuary is located in 

	 (a) West Bengal				    (b) Uttar Pradesh

	 (c) Assam					     (d) Kerala	

125.	 «ð£ð£™ ü¨¡ ñ£îˆF™ ÜFè ñ¬öŠ ªð£N¬õ ªðÁA¡ø¶. Þ¶ â‰î ð¼õè£ôˆ¬î„ 
ê£˜‰î¶?

	 (Ü) ªî¡«ñŸ° ð¼õè£ô‹			  (Ý) õìAö‚° ð¼õè£ô‹

	 (Þ) ªî¡Aö‚° ð¼õè£ô‹			  (ß)  õì«ñŸ° ð¼õè£ô‹

	 Bhopal records high amount of rainfall in June which belongs to the season of

	 (a) South - West monsoon			   (b) North - East monsoon

	 (c) South - East monsoon			   (d) North - West monsoon	

126.	 îI›ï£†®¡ èìŸè¬óŠ ð°F ÜFè ñ¬öŠ ªðÁ‹ ð¼õ‹

	 (Ü) «è£¬ìè£ô‹				    (Ý) ªî¡«ñŸ° ð¼õè£ŸÁ è£ô‹

	 (Þ) õìAö‚° ð¼õè£ŸÁ è£ô‹		  (ß)  °O˜è£ô‹

	 Tamil Nadu coast gets more rainfall during

	 (a) Summer season				    (b) South - West monsoon season

	 (c) North - East monsoon season		  (d) Winter season	

127.	 Þ‰Fò£M™ âƒ° ÜFèñ£è ªê‹¹ (î£Ió‹) A¬ì‚Aø¶?

	 (Ü) «èó÷£					     (Ý) Þó£üvî£¡

	 (Þ) åKú£					     (ß)  ñˆFòŠHó«îê‹

	 Which state is the major producer of copper?

	 (a) Kerala					     (b) Rajasthan

	 (c) Orissa					     (d) Madhya Pradesh	 	

128.	  ªð£‚è£«ó£ à¼‚è£¬ô F†ì‹ ò£¼¬ìò àîMò£™ GÁõŠð†ì¶?

	 (Ü) ».âv.âv.Ý˜				    (Ý) ».«è

	 (Þ) ».âv.ã					    (ß)  ªü˜ñQ
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	 Bokaro steel plant has been set up with the assistance of

	 (a) U.S.S.R.					     (b) U.K.

	 (c) U.S.A					     (d) Germany

129. 	 â‰î ñ£GôˆF™ ðˆFK¬è è£Aî‹ îò£K‚°‹ «ïŠð£ ïè˜ Ü¬ñ‰F¼‚Aø¶?

	 (Ü) ñˆFòŠHó«îê‹				   (Ý) àˆFóŠHó«îê‹

	 (Þ) dý£˜					     (ß)  ñý£ó£w®ó‹

	 In which state the newspriant factory of Nepanagar is situated?
	 (a) Madhya Pradesh				    (b) Uttar Pradesh
	 (c) Bihar					     (d) Maharashtra		

130. 	 Ü¡Qªðê¡†

	 1. «ý£‹Ï™ Þò‚èˆ¬îˆ «î£ŸÁMˆîõ˜

	 2. ªõOï£†´ ªð£¼†è¬÷ Gó£èK‚èˆ É‡®ù£˜

	 3. «îCò è™M º¬ø¬ò ÝîKˆî£˜

	 4. ²«îêIˆFó¡ ðˆFK¬èJ¡ ÝCKòó£è Þ¼‰î£˜

	 ÞF™ 

	 (Ü) 1, 2 êKò£ù¬õ			   (Ý) 1, 2, 3 êKò£ù¬õ

	 (Þ) 1, 2, 3, 4 êKò£ù¬õ			  (ß)  1, 4 êKò£ù¬õ

 	 Consider the statements : Annie Besant
	 I.   started the home rule movement
	 II.  advocated boycott of foreign goods
	 III. was for national education
	 IV. was the edit  of ‘Swadeshmitran’
	 Of the statements :
 	 (a) I and II are correct				    (b) I, II and III are correct
	 (c) All are correct				    (d) I and IV are correct

131. 	 H¡õ¼õùõŸÁœ â¶ êKò£è Þ¬í‚èŠð†´œ÷¶?

	 (Ü) «è£è«ô		 - 	 GÎ Þ‰Fò£

	 (Ý) ð£óFò£˜		  -»è‰î˜

	 (Þ) Fôè˜		  - 	 «èêK

	 (ß)  è£‰FT		 - 	 è£ñ¡ i™

	 Which one of the following is correctly matched?
	 (a) Gokhale 			   -  New India
	 (b) Bharathi			   -  Yugantar
	 (c) Bala Gangadhar Tilak	 -  Kesari
	 (d) Gandhiji			   - Common wheel
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132. 	 è£‰FTJ¡ ÜóCò™ °¼

	 (Ü) ð£ôèƒè£îó Fôè˜			   (Ý) î£î£ð£Œ ªï÷«ó£T

	 (Þ) ô£ô£ ôxðˆ ó£Œ			   (ß)  «è£ð£ôA¼wí «è£è«ô

	 The political guru of Gandhiji was
	 (a) Bala Gangadara Tilak			   (b) Dadhabai Naoroji
	 (c) Lala Lajpat Rai				    (d) Gopal Krishna Gokhale

133	 H¡õ¼õùõŸP™ â¶ êKò£è Þ¬í‚èŠðìM™¬ô?

	 (Ü) ÜLè£˜ Þò‚è‹		  - 	 T¡ù£

	 (Ý) «ý£‹Ï™			   - 	 Fôè˜

	 (Þ) àŠ¹ êˆFò£Aóè‹		  - 	 è£‰FT

	 (ß)  õƒè£÷Š HKM¬ù		  - 	 è˜ê¡

	 Which of the following is not correctly matched?
	 (a) Aligarh movement 				   -  Jinnah
	 (b)Home rule movement			   -  Tilak
	 (c) Salt Satyagraha				    -  Gandhiji
	 (d) Partition of Bengal				    -  Curzon

134.	 îQï£´ «õ‡® ºvh‹ h‚ âŠ«ð£¶ «è£K‚¬è M´ˆî¶?

	 (Ü) 1939					     (Ý) 1940

	 (Þ) 1941					     (ß)  1942

	 In which year did the muslim league first give the call for a separate state?
	 (a) 1939					     (b) 1940
	 (c) 1941					     (d) 1942

135.	 ð†®ò™ I-ä ð†®ò™ II-àì¡ ªð£¼ˆF W«ö ªè£´‚èŠð†´œ÷ °Pf´è¬÷ ªè£‡´ 
êKò£ù ðF¬ôˆ «î˜‰ªî´

		    ð†®ò™ (1)			      ð†®ò™ (2)

	 (a)	 ð£‡®„«êK			   1. ÝƒA«ôò˜èœ

	 (b)	 «è£õ£				   2. «ìQò˜èœ

	 (c)	 îóƒè‹ð£®			   3. Hªó…²‚è£ó˜èœ

	 (d)	 ñîó£v				   4. «ð£˜„²WCKò˜èœ

	 °Pf´èœ :

		  (a)	 (b)	 (c)	 (d)

	 (Ü)	 4	 1	 2	 3

	 (Ý)	 2	 3	 4	 1

	 (Þ)	 3	 4	 2	 1

	 (ß)	 4	 3	 1	 2
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	  Match List-I correctly with List-II and select your answer using the codes given below:

         	 List-I   	    	     	   		    List-II

	 A) Pondichery					    1) British 					   

	 B) Goa					     2) Danish

	 C) Tranquebar					    3) French

	 D) Chennai					     4) Portuguese

				    Codes:

				    A	 B	 C	 D

	 (a)			   4	 1	 2	 3

	 (b)			   2	 3	 4	 1

	 (c)			   3	 4	 2	 1

	 (d)			   4	 3	 1	 2

136. 	 ð†®ò™ I-ä ð†®ò™ II-àì¡ ªð£¼ˆî W«ö ªè£´‚èŠð†´œ÷ °Pf´è¬÷ ªè£‡´ 
êKò£ù ðF¬ôˆ «î˜‰ªî´

		  ð†®ò™ (1)			     ð†®ò™ (2)

	 (a)	 ÍƒA™ ïìù‹		  1. ð…ê£Š

	 (b) 	 ðƒè£ó£				   2. îI›ï£´

	 (c)	 èF				    3. ï£èô£‰¶

	 (d)	 «è£ô£†ì‹			   4. õƒè£÷‹

		  (a)	 (b)	 (c)	 (d)

	 (Ü)	 2	 3	 1	 4

	 (Ý)	 2	 1	 4	 3

	 (Þ)	 3	 1	 4	 2

	 (ß)	 4	 3	 2	 1

 	 Match List-I correctly with List-II and select your answer using the codes given below:

         	 List-I   	    	     	    		   List-II

	 A) Bamboo dance				    1) Punjab		  +	

	 B) Bhangra					     2) Tamil Nadu

	 C) Khathi					     3) Nagaland

	 D) Kolattam					     4) Bengal

				    Codes:

				    A	 B	 C	 D

			   (a)	 2	 3	 1	 4

			   (b)	 2	 1	 4	 3

			   (c)	 3	 1	 4	 2

			   (d)	 4	 3	 2	 1
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137. 	 W› ªè£´‚èŠð†ìõŸÁœ â¬õ êKò£è ªð£¼ˆîŠð†´œ÷¶?

	 (Ü) ï£ù£ê£AŠ			   - 	 ü£¡R

	 (Ý) °¡õ£˜Cƒ			   - 	 è£¡Ì˜

	 (Þ) «ðè‹ ýêóˆ ñý£™		  - 	 ô‚«ù£

	 (ß) ªô†²I ð£Œ			   - 	 °õ£Lò˜

	 Which one of the following is correctly matched?
	 (a) Nana Saheb				    -  Jhansi 
	 (b) Kunwar Singh				    -  Kanpur
	 (c) Begum Hazrat Mahal			   -  Lucknow
	 (d) Lakshmi Bai				    -  Gwalior

138.	  ð£ó£‚Ì˜ CŠð£Œ èôè‹ «î£¡ø à‡¬ñò£ù è£óí‹

	 (Ü) Ì˜iè õƒè£÷ ð¬ìJù˜, ð˜Iò¼‚° âFó£è ê‡¬ìJì ñÁˆîù˜

	 (Ý) CŠð£Œèœ ÜFè‹ ð® «è†ìù˜

	 (Þ) Þ‰Fò ió˜èœ Üô†Còˆ¶ì¡ ïìˆîŠð†ìù˜

	 (ß) Þ‰Fò ió˜èœ î¬ôŠð£¬èèœ ÜEò ñÁˆîù˜

	 The real cause of Barrackpore mutiny was
	 (a) the native Bengal army refused to fight against the Burmese
	 (b) the sepoys demanded extra bhatta
	 (c) the native sepoys were treated indifferently
	 (d) the native sepoys refused to wear the turbans

139. 	 ðöƒè£ôˆF™ Þ‰Fò ¸¬öõ£Jô£è Þ¼‰î¶?

	 (Ü) èò£					     (Ý) ð‹ð£Œ

	 (Þ) ¶õ£óè£					    (ß)  ¬èð˜

 	 The Gateway of India in ancient times was
	 (a) Gaya					     (b) Mumbai
	 (c) Dwarka					     (d) Khyber

140.	  °®òó²ˆ î¬ôõ˜ GFG¬ô Üõêóè£ôŠ Hóèìù G¬¬¬ò âˆî¬ù º¬ø ÜPMˆ¶œ÷£˜?

	 (Ü) å¼º¬ø				    (Ý) Þó‡´ º¬øèœ

	 (Þ) Í¡Á º¬øèœ				   (ß)  âŠªð£¿¶‹ Þ™¬ô

	 How many times the President has declared the financial emergency?
	 (a) once					     (b) twice
	 (c) thrice					     (d) never	
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141. 	 °®òó²ˆ î¬ôõ˜ «î˜î™ ê‹ð‰îŠð†ì MûòƒèO™ º®ªõ´Šðõ˜ ò£˜?

	 (Ü) êð£ï£òè˜				    (Ý) î¬ô¬ñ cFñ¡ø‹

	 (Þ) F†ì Ý¬íò‹			   (ß)  ð£ó£Àñ¡ø‹

	 Who decides the disputes regarding the election of the President?
	 (a) The Speaker				    (b) The Supreme Court 
	 (c) The Election Commission			   (d) The Parliament	

142.	  ÎQò¡ Hó«îêƒèÀ‚° ñ‚è÷¬õJ™ âˆî¬ù Þìƒèœ å¶‚èŠð†´œ÷ù?

	 (Ü) 10 Þìƒèœ				    (Ý) 15 Þìƒèœ

	 (Þ) 20 Þìƒèœ				    (ß)  30 Þìƒèœ

	 How many seats are reserved for Union Territories in the Lok Sabha?
	 (a) 10 seats					     (b) 15 seats
	 (c) 20 seats					     (d) 30 seats	

143. 	 «ð£¬óŠ HóèìùŠð´ˆ¶õîŸ° ê†ìÌ˜õñ£ù ÜFè£óˆ¬î ªðŸP¼Šðõ˜ ò£˜?

	 (Ü) °®òó²ˆ î¬ôõ˜			   (Ý) î¬ô¬ñ Ü¬ñ„ê˜

	 (Þ) ñ‚è÷¬õ				    (ß)  ð£ó£Àñ¡ø‹

	  Who is legally competent to declare war?
	 (a) The President				    (b) The Prime Minister
	 (c) The Lok Sabha				    (d) The Parliament	

144. 	 Þ‰Fò ÜóCòô¬ñŠ¹ ê†ìˆF™ Ü®Šð¬ì èì¬ñè¬÷ «ê˜ˆî ê†ìF¼ˆî‹

	 (Ü) 40õ¶ ê†ìF¼ˆî‹			   (Ý) 42õ¶ ê†ìF¼ˆî‹

	 (Þ) 43õ¶ ê†ìF¼ˆî‹			   (ß)  44õ¶ ê†ìF¼ˆî‹

	 Fundamental duties were introduced in the Indian constitution by the 
	 (a) 40th Amendment				    (b) 42nd Amendment 
	 (c) 43rd Amendment				    (d) 44th Amendment	

145.	  Üó² ªïPº¬ø‚ ªè£œ¬èèÀì¡ «ïó®ˆ ªî£ì˜¹¬ìò¶?

	 (Ü) Ü®Šð¬ì àK¬ñèœ			   (Ý) Ü®Šð¬ì èì¬ñèœ

	 (Þ) è£‰Fò‚ ªè£œ¬èèœ			   (ß)  ºèŠ¹¬ó

	 Directive principles of state policy are directly concerned with
	 (a) Fundamental rights				   (b) Fundamental duties
	 (c) Gandhian principles			   (d) Preamble	

146. 	 Þ‰Fò °®òó²ˆ î¬ôõ˜ «î˜îL™ «ð£†®J´õîŸè£ù àò˜‰î ð†ê õò¶ õó‹¹ 

	 (Ü) 58 Ý‡´èœ				    (Ý) 60 Ý‡´èœ

	 (Þ) 62 Ý‡´èœ				    (ß)  Þ¶ «ð£¡ø õó‹¹ Þ™¬ô
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 	 What is the maximum age prescribed for election as President of India? 
	 (a) 58 years					     (b) 60 years
	 (c) 62 years					     (d) no such limit

147.	 Þ‰Fò °®òó²ˆ î¬ôõ˜ Üõêóè£ô Hóèìù G¬ô¬ò ÜPMŠð¶

	 (Ü) Üõó£«ô«ò º®»‹			 

	 (Ý) Ü¬ñ„ê˜ °¿M¡ ðK‰¶¬óJ¡ Ü®Šð¬ìJ™

	 (Þ) î¬ô¬ñ Ü¬ñ„ê˜ ðK‰¶¬óJ¡ Ü®Šð¬ìJ™

	 (ß) ð£ó£Àñ¡ø ðK‰¶¬óJ¡ Ü®Šð¬ìJ™	

	 The President of India can declare emergency
	 (a) on his own					   
	 (b) on the recommendations of the council of Ministers 
	 (c) on the recommendations of the Prime Minister					   
	 (d) on the recommendations of the Parliament	
	

148. 	 Þ‰Fò ÜóCòô¬ñŠ¹„ ê†ìˆF™ ºèŠ¹¬ó F¼ˆîŠð†ì¶?

	 (Ü) 24õ¶ F¼ˆîˆF™			   (Ý) 36õ¶ F¼ˆîˆF™

	 (Þ) 42õ¶ F¼ˆîˆF™			   (ß)  44õ¶ F¼ˆîˆF™

 	 The Preamble to the Indian constitution was amended by the 
	 (a) 24th Amendment				    (b) 36th Amendment 
	 (c) 42nd Amendment				    (d) 44th Amendment	

149 	 ¶¬í‚°®òó²ˆ î¬ôõ˜ ðîM‚è£è, Þ‰Fò ¶¬í‚ °®òó²ˆ î¬ôõ˜ ªðÁ‹ ñ£î áFò‹

	 (Ü) Ï. 25,000				    (Ý) Ï.30,000

	 (Þ) Ï. 35,000				    (ß)  áFò‹ ã¶‹ Þ™¬ô

	 °PŠ¹ : ó£xò êð£M¡ î¬ôõ˜ ðîM‚° ñ†´«ñ ê‹ð÷‹

	 The monthly salary of the Vice-President of India as Vice-President is 
	 (a) Rs. 25,000					     (b) Rs. 30,000
	 (c) Rs. 35,000					     (d) Nothing	

150. 	 cFðFèœ ê‹ð÷‹

	 (Ü) Üõêó GFJL¼‰¶ õöƒèŠð´Aø¶

	 (Ý) å¡Á «ê˜‚èŠð†ì GFJL¼‰¶ õöƒèŠð´Aø¶

	 (Þ) ªî£°Š¹ GFJL¼‰¶ õöƒèŠð´Aø¶

	 (ß) îQò£è GF Þ™¬ô

	 The salaries of judges are paid out of 
	 (a) Contingency				    (b) Amalgamated fund

	 (c) Consolidated				    (d) No special fund



1.	 °PŠ¹è¬÷ º¿õ¶ñ£è ð®ˆ¶M†´, OMR M¬ìˆî£O™ 1 L¼‰¶ 5 ñŸÁ‹ Mù£ˆªî£°ŠH™ õK¬ê â‡, 1 L¼‰¶ 4 õ¬óJô£ù îèõ™è¬÷ 
èõùñ£è GóŠð¾‹.  cƒèœ °PŠ¹èO™ ÃP»œ÷ð® êKò£ù º¬øJ™ îèõ™è¬÷ GóŠH, ÃP»œ÷ð® ¬èªò£Šð‹ Þì£M®™, àƒè÷¶ 
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3. 	 Þ‰î Mù£ˆªî£°Šð£ù¶ Mù£‚è¬÷ ð‚èƒèO™ ªè£‡´œ÷¶.  Mù£ˆªî£°ŠH¬ù Fø‚°ñ£Á ÜP¾ÁˆîŠð†ì H¡ù«ó M‡íŠðî£ó˜èœ 
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«õ‡®ò Mðóƒè¬÷ êKò£è GóŠð «õ‡´‹.  ---- ‚° c‡ì ñE åL‚°‹.  YLìŠð†ì ºˆF¬ó¬ò  ---- ‚° c‡ì ñE åLˆî Hø«è 
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	 OMR Answer Sheet is desingned for computer evaluation.  If you do not follow the instructions give above and shown in the OMR Answer Sheet.  It may make 
evaluation by computer diifficult.  Any resultant loss to the condiate on the above accounts shall be of the candiate only.

14.	 ÞÁF ñE åLŠðîŸ° º¡ â‰î å¼ M‡íŠðî£ó¼‹ «î˜¾ Ü¬ø¬ò M†´ ªõO«òø‚Ãì£¶.  «î˜¾ Ü¬ø¬ò M†´„ ªê™½‹ º¡¹   
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15. 	 îõø£è Ì˜ˆF ªêŒòŠð´‹ / ªêŒòŠðì£ñ™ àœ÷  OMR M¬ìˆî£œèÀ‚° ñFŠªð‡èœ °¬ø‚èŠð´‹.
	 Marks will be deducted if the OMR is filled up wrongly / unfilled.

1 	 ð°F II ™ ( ªñ£N 1) M‡íŠðî£ó˜ Þ¬íòˆF™ M‡íŠðˆ¬î Ì˜ˆF ªêŒò «ï˜‰ªî´ˆî ªñ£N 1 ¡ Mù£‚è¬÷ M¬ìòO‚è «õ‡´‹.
	 In part II (Language I) a candidate has to attempt the questions of the language which the candidate has selected as language I in the Application Form.
2.	 OMR  M¬ìˆî£O™, Mù£îªî£°Š¹ õK¬ê â‡¬í ÜîŸªèù îóŠð†´œ÷ ÞìˆF™ M‡íŠðî£ó«ó êKò£è GóŠð «õ‡´‹. 
	 The candiate mujst ensure that the Qustion Booklet Series code has been filled  correctly at the prescribed places in the OMR  Answer Sheet.
3. 	 M‡íŠðî£ó˜ M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ð°F &  IV  ( HK¾ A ) èEî‹ ñŸÁ‹ ÜPMò™ Ü™ô¶ ð°F  IV  (HK¾& B)êÍèMò™ 

ð°F‚° M¬ìòO‚è «õ‡´‹. M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ªñ£N ñŸÁ‹ ð£ìŠð°F Mù£‚èÀ‚°  ã«îÂ‹ å¼ M‡íŠðî£ó˜ 
M¬ìòO‚è îõPù£™, Þ¶ îõø£è‚ è¼îŠð´‹  «ñ½‹  ÞˆîõPŸ° M‡íŠðî£ó«ó ªð£ÁŠð£õ£˜. 

	 The candiate has to answer that subject in Part - IV ( Section A) Mathematics and  Science or part - IV ( Section B ) Social  studies as selected by him/  her  in the 
Application Form.  If a candiate answers the questions of the language or subject other than selected in the Application Form, the  candiate  shall be  personally 
responsible for it and it would be treated as wrong.

êKò£ù º¬ø :
Correct method:

îõø£ù º¬ø :
Wrong method:

Correct Correct Correct Correct Correct
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